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LABEL 000000000LINF 001772447 FXECUTE FSPOL/DISK

RURROLIGHS R=5700 FSPOL cOMPILFR MARK XVy,0,116

MCPA /D1SK

-1 k3 23 21t ¥ 13

SOURCF FILESs SYMBOL /McP

!
.

P 5700 MeP MaRK
%
COMMENT S

XV1,0,178 05/709/77%179=
TITLE: R5500/85700 MARK XV] SYSTEM RELFASF

FILF 1Dt SYMBOL/MCP TAPE 1Ds SYMROLI/FILEOOO

THIS MATERJAL 1S PROPRTIETARY TO BURROUGHS CORPORATYJON
AND 1S NOT TO RE RFPROPUCEDs» USED, OR DISCLOSED
FXCEPT IN ACCORDANCE WITH PROGRAM LICENSE OR UPON
WRITTFN AUTHORIZATTION OF THE PATENT DIVISION OF
BURROUGHS CORPORATION, DETROIT, MICHIGAN 48232

COPYRIGHT (C) 1965, 1971, 1972, 1973, 1974
" BURROUGHS CORPORATION '
AAT59915 AA320206 AA393180
AALIB655 AAL95656
$ SET OMIT = NOTCDEBUGGING)
BEGIN
, DEFINE MIXMAXe 9#;
PRT(201) =-*SEGMENT DESCRIPTOR*
DEFINE JORMUMAX=404#3

AA332366 AA465080

* R ¥ F X XX K X X XX
P E R

COMMENT: MIXMAX MAY NOT BE LARGER THAN 293

COMMENT: JOBNUMAX SHOULD BE ABOUT
. _ x : 2XMIXMAX 4303
DEFINF MARKLEVFL= ¥ MARK LFVEL [N ALPHA
"XV], 0" ' _
#, PATCHLEVEL= % PATCH RELEASE LEVEL IN ALPHA
"178"
*, LOCALFVEL=

”" »”

- %179-
% LOCA|, LEVEL IN ALPHA

63*0.S-
62%, . ‘

DEFINE . MCPTYPE
DCINTYRF
TSSINTYPE B 618y

COMMENT THF ESPOL cOMPILER APPROPRIATELY TYPES THE MCP 8

INTRINSICS FILE HEADERS S0 THAT A VALIDITY CHECK MAY BE MADF
DURING INITTAL1IZATION AND AT CI AND CM TIME, HEADER[41,[3616]
IS THF FIELD USED TO CONTAIN THE TYPES " ) i
DEFINE FSAD = [1%15]¢%, -
UNUM = -T16853%,
RYBY(BYRY1,RYBY2) =
REGIN STREAMCAS=TYPEDSPACE(C10,SPOUTMSGAREAY) ¢ J3g 2167 =
REGIN Dli=A3 DS!aBYBY2 LIT BYBY{ END3
FUNT(O0);
END¥;
DEFINF RFSFRVFDISKSIZE=2000%;
COMMENT TRACESTIZE IS THE SIZE OF THE CORE AREA USED TO STORF TRACE
INFORMATION BEFORE IT 1S WRITTEN ON DISK,

[ 1]

THURSDAY, 09/01/77,

~4

11859 aAM,

00001000°

00002000
00002010
00002011
00002012
00002013
00002014
00002015
00002016
00002017
00002048
00002019
00002020
00002021
00002100

00003000

00004000

00005000
00005001
00005010
00005020
00005030
00005040
00005050
00005060
00005070
00005100
00005120
00005140
00005160
00005180
00005185
00005190
00005200
00005210
0000%220
00005230
00005240
00005250
00005260
00005300
00005500
00005600

@
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ESPOL /DISK

4t~ A A~~~ 4~ =4 T

4 444 44 T =4~ ot~ — T — 4 — — —f

000010
000010
000010
000010
000010
000010
000010
000010
000010
0000:0

* 0000130

000010
000040
0000:0
0000:0
0000:0
0000:0

0000t0
000010
0000:0
0000:0
0000:0
000030
0000:0
0000:0
000030
0000:0
0000:0
0000:0
0000:0
0000:0
000030
0000:0
0000:0
0000t0
0000:0 "
0000:0
0000:0
000010
0000:0
0000:0
000010
0000:0

x D
’'Y




PRY(5) = JUNK

TRACAREASTART 1S THE ABSOLUTE DISK ADDRESS OF THE TRACF
AREA ON D1Sk,
TRACARFASTIZE 1S THE SIZF (IN DISK SEGMENTS) OF THE TRAC
AREA ON D1Sk3
DEFINE TRACESIZE=30#,TRACARLASTARY=100008, TRACAREASIZE=480#%;
DEFINE HANG=DO UNTTIL FALSE®:
DEFINE LEFTARROW = "ewg;
$ SET oMIT = NOT(SAVERESULTS)
REAL JUNK=53%

DEFINE PSFUDOMAX = 31 ¢, T MAX NO OF PSEUD=RDRS O0=ORIGIN
PSEUDOMAXT = 32 %, ¥ MAX NO OF PSFUD=RDRS 1~=~ORIGIN
PSFUDOMAXT = 63 #3 % # ENTRIFS IN TINU TABLE =2

COMMENT TO REDEFINF MAX NO, OF PSEUPNO RDRS,SIZF AND INTTIALJZATION
OF TINUr#) AT 00241900 MUST ALSO BE MODIFIED ACCORDINGLY?
COMMENT ¢ PSFUDOMAX MUST BE 20 AND £ 34
PSEFUDOMAX1 MUST BE 2 0 AND € 32
PSEUDOMAXT MUST BF 2 31 AND € 633%
COMMENT TO ANJUST THE PRIORITY, CORF ESTIMATE, AND STACK SIZF
OF LIBMAIN/DISKs SEE SEQUENCE NUMBER 450754703
LABEL 6O0GOGO,NORMALFRROR,P2BUSYs TIMER,EXTFRNAL» INQUEST,
PROCSWIToPZFAKEoKEYBOARDREQUEST.RETURN»COMINIT.MEMORYPAR]TY

’
DEFINE GETUSERDISK(GETUSERDISKY1)=PETUSERDISK(GETUSERDISK1s0)#5¢%
$ SET oMIT = NOT(DUMP OR DEBUGGING)
DEFINFE DUMPNOW(DUMPNOWY) =
NUMPCORFE (DUMPNONW1& (GETSPACE(2250+0) + 3)[15333815))43%
$ POP oMIT
INTFGER RRRMECH=@2013%

PRT(201) = RRRMECH

DEFINE SPACE(SPACE1) =(GETSPACE(SPACE1,0s0) + 2)#3
DEFINE MCPaM[{11#} RFRIVILEDGED USERCODE STORED IN M([1]
DEFINE ¢ KFYIN TABLE DEFINE VALUES FOR "RgPLY"

VAX = 014,
VIL = 02¢%,
VUL = 03#,
VOT = 0utd,
Vvou = 05%,
VWY = 064,
VRM = 12#%,
VOK a 22#,
VFM = 23#,
VFR = 242,
VOF = 254,
VEC = 21#,
VIF = 37%;
NEF INE

$ SET OMIT = AUXMEM
SPACFSTACKSIZF = 80#%;
$ SET OMIT = NOTCAUXMEM)
SAVF INYEGFR PROCEDURE GETSPACECSIZF»TYPEsSAVEF)SZ

F

IWF

00005700
00005800

00005900
00005950
00006000
00006100
00006150
00006200
00007000

00007050
00007055
00007060
00007061
00007062
00007065
00007070
00007075

00007200

00007210
00008000
00009000
00010000
00012001
00012159
00012160
00012165
00012166
00013000

00013500
00013600
00013700
00013710
00013720
00013730
00013740
00013750
00013760
00013770
00013780
00013790
00013800
00013810
00013820
00013830
00013850
00013860
00013870
00013880
00014000

START OF SAVE SFGMENTS BASE

PRT(202) = RETSPACE

VALUE SIZETYPE»SAVEF3%
INTEGFR SIZF,TYPE}X
BOOLEAN SAVEFS FORWARD! %

NEFINE

167

00015000
00016000
00017000
00017005

e e R T

o A A o~ — 4~~~

D A o o o ot o =~ —f = —

O - -t —

0000:0
0000:0

0000:0
000030
0000:0
000010
0000:0
0000:0
0000:0

0000:0
000010
0000:0
0000:0
000010
0000:0
000010
0000;0
000030
0000:0
0000:0
000010
000010
000030
000030
000010
000030
000030
0000:0

000030
0000:0
000030
0000:0
0000:0
000030
000030
000030
0000:0
0000:0
0000:0
0000:0
000030
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
000030
0000:0
DDRESS =

0000:0
0000:0
000030
0000:0

00000

4



TYPFNSPACE(TYPEDSPACEL1»TYPFDSPACF2) = ¥167=
(GETSPACE (TYPEDSPACE 1+ TYPEDSPACE2+0)42)# % %167~

» ARRAYDESC(ARRAYDESC1,ARRAYDESC?2) = £167=
(TMTGETSPACECARRAYDESC Y »ARRAYDESC2,0)+2]71 & ARRAYNDESCY (SIZEI)#® %

» SAVEARRAYDESC(SAVEARRAYDESC1»SAVEARRAYDESC?2) = $167~
tTMIGETSPACE(SAVEARRAYDESC1+SAVEARRAYDESC2,1)+27]) 167 =

& SAVEARRAYDESCt [SIZE1)® %

H 5167

RS e e P P 33237235322 2335233323233333333332733¢82331%"
ok oo o e K o ok K oK OK KK o Ko oK ok R e oo ko o o N o o ok o o koK Rk kR Rk ok

Ix "
4 MEMORY AREA TYPFS STORED IN 3%6 FIELD OF FIRST MEMORY *3
Z* LINK OF ALL MEMORY AREAS *g
I* *%

90 ok 0ok g oo ks Sk kK o oK KoK kK ok o oK ke e Kk KK o R R o s R ok ok o o ok R o ok ok R
L2 S e A e Pt e s PPN RS2 833222 28232883333 34233333 322822220

DEF INE $167=
UNKNOWNAREAY = 0¥ ¥ $167=
»CODFARFAV = 1% % ¥167=
»DATAAREAV = 2% % $167~
» TOBUFFERARFAY = 3t % ¥167=
»ALGOLFIBAREAY = 4% g 2167~
» INQUIRYBUFFAREAV = 5% % $167=
»COBOLFIRARFAYV = 64 % %167 =
»TYPE7INTARFAY = T g L1167~
2+ DISKHEADERARFAY = B#% ¢ X167~
»MAINTBUFFAREAV = 9% g $167~
s LRLFANAREAV = 10% g ¥167=
+SFGZFROAREAV = 11¢ g $167=
s STACKARFAY = 12#% % ¥167~
» TYPE13INTAREAV = 13% % $167=
+SCRATCHDIRARFAV = 14% g %167~
»OPSETAREAYV = 15¢% g X167=
»DIRTOPARFAV = 16% % X167=
» SPOUTMSGAREAYV = 17 g $167=
s UVYROWAREAY = 18¥% ¢ %X167=
s JARROWAREAV s 19*% ¢ $167~
»CIDROWAREAV = 20% ¢ £167=
» INQTNPUTARFAYV = 21% $167=
» INTARRAYAREAY = 22% % $167=
s RJEINPUTAREAY = 23% g 2167~
+DCOUFUEARFAV = 24% % 2167~
*DALOCROWARFAV = 25% % 167w
» SHEETAREAYV = 26% g E167=
» STAWORDARFAYV = 27¢ % pC McP ONLY 2167
s KEYINRBUFFAREAV = 28% g %167 =
»FSARFAV = 294 ¢ $167=
»DC19QUEUEAREAV = 30% ¢ nC McP ONLY %167=
»AVTABLEAREAV = 314 g 2167 =
+» TRACETABLEAREAV = 32# g DC MCP ONLY $167=
» SFGNICTAREAV = 33% g $167=
»STACKPRTAREAV a 4% g $167=
+MePTABLEAREAV = 35% g% %167~
» IRSTACKARFAV = 6% g X167~
+FPBAREAV = 37¢ ¢ ¥167=
»CONTROLCARDAREAYV = 38#% % $167~=
»LABFLAREAV = 394 g £167=
e

00017010
00097045
00097020
00017025
00017030
00047035
00017040
00017045
00017100
00017110
00017120
00017130
00017140
00017150
00017160
00017170
00017180
00017190
00017200
00017210
00017220
00017230
00017240
00017250
00017260
00047270
00017280
00017290
00017300
00017310
00017320
00017330
00017340
00097350
00017360
00097370
00017380
00017390
00017400
000174410
00017420
00017430
00017440
00017450
00017460
00017470
00017480
00017490
00017500
00017510
00017520
00017530
00017540
00017550
00017560
00017562
00017564

nnnnt')nnnonnonnnnnoononnnnonnooononnnnononnnnnnooononnnnon

000010
0000:0
0000t0
0000:0
0000t0
000010
00000
000030
0000:0
0000:0
000030
000030
000010
000010
0000:0
0000t0
0000:0
0000:0
000010
0000:0
000010
0000:0
0000:0
0000:0
0000:0
0000:0
000010
0000:0
0000:0
0000:0
0000:0
0000:0
000010
0000:0
0000:0
0000:0
000080
0000:0
0000:0
0000:0
0000:0
000010
0000:0
000010
0000:0
0000:0
000010
0000:0
000040
0000:0
0000:0
0000:0
000030
0000t0
0000¢t0
000030
000010




PRT(¢203)

PRT¢204)

PRT(205)

PRT¢206)

PRT¢207)

PRT(210)
PRT(211)

PRT(212)

PRT(213)
PRT(214)

»MPUMPARFEAY = 40% ¢ Y167 =
»ESPDISKAREAV = 4% g %1 67m
+LOGAREAV = 42t % %$167=
»CANDFINPUTARFAV = 43% g TSS MCP ONLY ¥167=
»sORJOBINPUTARFAV = 44# ¢ TSS MCP ONLY ¥167=
»TYPEAGS = 454 g $167~
2 TYPFU46 = 46% % %167=
o TYPEAT = 47¢ 3 $167"
»TYPF48 = 48% % $167=~
H %167~

IR e e e e R I P L 2R RT3 3 2323823333333 22222227"
3ok ok o ok KK K KR oK KR oK o s Kk K R oo R R o R ok K ok ok A

x* g
¥ MEMORY L1 NKS *g
3 * *g

Zt********************************#****#**#*t**t*t*t***t*t**********t**!
zzzzzzzazzzzzzzzzxzzzzxzzzzz%zzzxzzzzxzzzzxzzzzzzzzxzzzz%zzxzzz:zzzzzzzz

% %167
FIELNS OF MEMORY LINK 0 OfF ALL AREAS %167=
4 167
FIELD $167~
ARFAAVATLF = 01301 ¥ = 0 FOR IN"USE ARFA» = 1 FOR AVAIL., ARFA
» ARFASAVEF = 02:01 % = 1 FOR IN=USF SAVE AREAs = O FOR OLAY AREA
s ARFATYPEF = 03306 % TYPE OF AREA (SEE ABOVE) ¥167=
»ARFAMTXF = 09306 % MIX INNDEX OF OWNER OF AREA ¥167=
» ARFABACKLINKF = 18815 % ADDRESS OF PREVIOUS AREA 2167w
»ARFAFWDLINKF = 33315 % ADDRESS OF NEXT AREA $167=
H ¥167=

SAVE REAL PROCEDURF WAITIO(CIODsMASK,U)3%

00017566
00017568
00017570
00017572
00017574
00017576
00017578
00017580
00017582
00017600
00017700
00017710
00017720
00017730
00017740
00017750
00017760
00017762
00017764
00017766
00017770
00017780
00017790
000417800
00017810
00047820
00097830
00017840
00018000

START OF SAVE SEGMENT} BASE

WAITIO
VALUE 10D.MASKsU3 REAL YODsMASKsU} FORWARD%
SAVF PROCFDPURE DISKWAIT(CORE,SIZEsD7SK)S

00019000
00019100

START OF SAVE SEGMENT}S BASE

NISKWAIT
VALLUE CORE,SIZE»DISK}
REAL CORE»SIZEDISK?
FORWARD?
PROCEDURE FRRORFIXER(TYPE); VALUE TYPES REAL TYPES FORWARD:

00019200
00019300
00019400
00019500

START OF REL SEGMENT® D]SK

FRRORFIXFR
SAVE PROCEDURE SNOOZF(PRYR,ADDRESS,MASK)3 VALUFE PRYR,ADDRESSsMASKS

00020000

START OF SAVE SEGMENT3 BASE

SNOOZE
REA|. PRYR3 NAMF ADDRESS} ARRAY MASK[*]3 FORWARDS
DEFINE SLEFP(SLEFP1,SLEEP2)=SNOOZE(PRYORIPIMIX1»SLEEP1,SLEEP2)#;
ARRAY PRYOR[*]}

PRYOR
REAL PIMIX,P2MIX3 % SFE 00105000
PIMIX
P2MIX
ARRAY SLATFI*])3%
SLATE
REAL, NSLATFsLSLATESX
NSLATE
LSLATE

DFFINF SLATES1ZE=16#,SLATEND=SLATESIZE=1#3%S1ZE MUST BE TWO POWER

00021000
00021500
00021600

00021700

00022000
00023000

00023100

¢ 000010
¢ 0000t0
c 000010
¢ 000030
C 00000
c 000030
¢ 000010
¢ 0000:0
c 000010
c 0000%0
€ 000030
C 00000
¢ 000030
¢ 0000t0
c 000010
c 000010
¢ 000030
¢ 000030
¢ 0000t0
¢ 0000:0
c 0000:0
c 0000t0
C 0000:0
¢ 0000:0
C 0000%0
c 0000:0
¢ 0000:0
¢ 0000:0
T 0000:0
ADDRESS =

T 000030
T 000030
ADDRESS =

T 0000:0
T 000010
T 000030
T 0000:0
ADDRESS =

T 0000:0
ADDRESS =

T 0000t%0
T 000010
T 000050

T 000030

T 00000
T 000030

T 00000

00000

00000

00002

00000



PRT(160)
PRT(161)
PRT(162)
PRT(163)
PRT(164)
PRT(165)
PRT(166)

PRT(170)

PRT(162)
PRT(215)

PRT(216)

e Hn uuH

STACKeFa+1)
STACK¢F4+2)
STACK(F+3)
STACKC¢F+4)

PRT(216) =

REAL NT1=0160,NT2=0161,NT3=0162,NT4=P163,NT5=P164,NT6=@165,NT7=0166}

00
. 024000
NT?
NT3
NT4
NTS
NT6
NT7
o KREAL cLock = @1703 % cLOCK,[9:33]1 CONTAINS THE NUMBER OF TIME INTERVAL 00024005
el.oc
2 INTERRUPTS PROCESSED SINCF HALT LOAD, CLOCK,[4236] 00024006
§ ALWAYS EQUALS ZERO, %156« 00024007
COMMENT NT{ THRU NT7 ARE USED BY THE MCP FOR TFMPORARY STORAGE, 00024010
ALL PROCESSES THAT USF THESF VARIABLES ASSUME THAT IF CONTROL 00024020
1S LOST, TWEIR CONTENT MAY HAVE BEFN CHANGED BY THE TIMfp 00024030
THAT CONTRO|. 1S REGAINED, 00024040
E:D SO?MENTB . 00024050
ARRAY TSKA = NT3r*]; >
Sk 00024060
REAL MCPBASES
MCPBASE 00024100
COMMENT MCPBASE CONTAINS THE DISK ANPDRESS (OCTAL) OF THE BEGINNING 00024200
OF THE MCP THAT 1S CURRENTLY IN USE, THIS ADDRFSS 1S PASSED TO 00024210
THFE MCP RY THE LOADER ROUTINE AT EACH HALT/L0AD IN M[O31,r18:307, 00024220
WHFN THF ESPBIT ROUTINE IS CALCULATING THE DISK ADDRESS 00024230
OF AN MCP SEGMENT, 1T ADDS MCPBASE TO THF ADDRESS THAT 00024240
IS CONTAINED IN THE PRT CELL FOR THAT SEGMENT, 00024250
FND COMMENTS 00024260
LABEL NOTHINGTODO, INITIATE,START»STACKOVERFLOW, JOBUSY 00024270
$ SET oMIT = NOTCAUXMEM OR MON]TOR) 00024299
$ SET OM]T = NOT MONTTOR 00024590
DEFINE MCPNAMESEG = (DIRECTORYTOP=7)%; 00024910
COMMENT MCPNAMESEG CURRENTLY CONTAINS THE FOLLOWINGS 00024920
WORDf 071=WORD[15] = FILE IDS OF THE AUXDATA FILES FOR MCP & [NTRINCS, 00024930
WNORDL161=WORD[191 = CONTAIN THE WORD "AUXMEM " AS A MARKER, 00024940
WORDL201=WORND[27) = FILE IDS oF THE MCP™S AT HALT/LOAD, 00024950
WORD[28) = USED BY DISKSQUASH FOR CoMM, BETWEEN SHAREDISK SYSTEMS, 00024960
P 00024970
$ SET OMIT = NOTC(NEWLOGGING) 00024999
$ SET OMIT = NEWLOGGING 00025299
DEFINE STARTLOG(STARTLOG1)= | 00025300
PROCTIMELSTARTLOGL Je(*PC(DUP))=CLOCK=PC(RTR) 2, 00025400
STOPLOGESTOPLOGL»STOPLOGD) = 00025500
PROCTIMELSTOPLOGYI ) «(*P(DUP))+CLOCK+PCRTR)#} 00025600
$ POP oMIT 00025601
SAVE PROCFDURE FSPRIT3 COMMENT PRESFNCE BIT ROUTINE FOR ESP SEGMENTS 3% 00025900
START
CSPBIT ART OF SAVE SEGMENT}) BASE
BFGIN INTEGFR PRTLOC,SYLLABLE,LOC»SIZF}3% 00026000
= PRTLOC "
= SYLLABLE
= LOC
= SIZF
FIELD MAYBEWORKEDON = [7%1)3 % x156= 00027000
ARRAY MYSELF=ESPRIT[*13% 00028000
MYSELF
REAL RCW=+0,DISKREAD:% 00029000

P
T

T

0000%0

0000:0

0000:0
0000:0
000030
000030
000010
0000:0
0000:0
0000:0

0000:0

0000:0
0000:0
0000:0
000030
00000
000010
0000t0
000030
0000t0
0000:0
0000t0
0000:0
0000:0
000010
000010
000010
000010
0000:0
000030
000030
000010
00001%0
0000140
000010
000030
DNRESS =

0000:0

0000:0
000010

0000¢t0

00000



STACK¢F40)
STACKeF+5)

= R
= D

c
I

W
SKREAD

$ SET oM17Y

ILABEL MAKEPRESENT, TRYAGAIN?
= NOT(NEWLOGGING)

£156=

MAKFEPRESFENT:

$ SET oMI1T

$ SET OMIT =

$ SET oMIT

TRYAGAINS

$ SET OMIT =

H

PRTLOC+«(RCW INX O)RRCW[30$1012]13%
STREAM(RSLT«rSYLLABLE)sCL*PRTLOC)SZ
BEGIN S1eCL3 SIeSI™23 DI«RSLT: DIeDI+63 DSe? CHR END3

PRTLOC « IF SYLLABLE THEN NT4%

ELSE SYLLABLE,[36110)3%
2 THIS 1S THF CODE WE WILL PASS TO
£ GETSPACE THE FIRST TIME, IT RFQUESTS
% OVERLAY MEMORY FOR THE MCP- AND THAT
¥ WE WANT T0 BE RETURNED TO ON A NO

SYLLABLE = 81043

g MEM, %156
IF MEMORY{PRTLOC) ,MAYBEWORKEDON THEN%
BEGIN MEMORYFPRTLOC),MAYBEWORKEDON«FALSES X
SIZE«MEMORYrPRT|,0C1,[881013%
£156=

NOW WE WILL ATTEMPT TO GET SPACE FOR THIS MCP PROC,
IF WE FAIL WE WILL WAIT FOR A SECOND AND THpN TRY
AGATN, TH1S ENSURES THAT IF WE GET DS=ED WHILE %156m
SLEEPING WATTING FOR MEMORY WE WILL NOT LEAVE THE

TOGGLE LOCKED Up FOR THIS PROCEDURE, ¥156=
2156~

1F (LOC:=GETSPACE(SIZE»1sSYLLABLE))=0 THEN ¥ NO MEM
REGIN ¥156-

MEMORY[PRTLOC)I.MAYBEWORKEDON t= TRUES ¥ UNLOCK I
SYLLABLE.[46%1) 3= TRUES % DONT PRINT Np MEM
SLEEPCLCLOCKIaNOT CLOCK)S % WAIT FOR ONE SECOND,
GO 70 TRYAGAINS 2156w
END3 £156~

NOTCAUXMEM)
DISKREAD*(LOC+1)&SIZE[8338:10]&?14[21:42:6] ir
RC(SIZF+29) DIV 30)[2734216)13%
sTREAM(L:=L0c+1.Nt:M[PRTLOCJ.[18:15]+MCPBASE.D:-0)3
REGIN SleLOC N3 DI«L3 DSe8 DEC END3 %

SYLLABLF«WAITIOCDISKREADS»O0,18)3%
NOTCAUXMEM)
MEMORYLLOCJ«MEMORY[LOCIRO[2547281]80L914216];%
MEMORYLLOG+1)«PRTLOCRSIZEL18233115)3%
M{PRTLOCI 1= M{PRTLOC) § TRUE [MAYBEWORKEDON] %%156=
RCLOC+2)[331338115)3%
NOT MONITOR
END ELSEZR

BEGIN SLEEP({MI{PRTLOC)I],08 TRUF [MAYBEWORKEDON]):%
IF (MEMORYLPRTLOC] INX 0)=(MYSELF INX 0) THENR
GO TO MAKEPRESENTSY

X156~

FND3 %

NOTCNEWLOGGING)
POLISHCOsRDFsOsXCHaFCX2STS) 3%
GO TO POLISHCMEMORYLPRTLOC1)S &

GO TO START: % PLACE DFSC,IN PRT FOR MCP TO AUXMEM TRANSFER

00030000
00030099
00031000

00032000
00033000

00034000
00035000
00035500
00035510
00035520
00035530
00035540
00036000
00037000
00038000
00039000
00039005
00039010
00039015
00039020
00039025
00039030
000390235
00039040
00039045
00039050
00039055
00039060
00039065

00039099
00040000
00041000
00042000
00043000

00044000
00044099
00045000
00046000
00047000
00048000
00048099
00049000

00050000
00051000
00052000
00053000

00053099
00054000
00055000
00055100

OO DO D V—A- 4O - — A~ 4 - T

Nt AUV A VA ] o o g —4 — -

— -t -~

0000¢0
000030
000030
0003t2
000412
00033000
000513
0006423
0008:3
000912
000932
000932
000932
000912
001110
0014¢1
00161t
00161414
001611
001611
001614
001681
001611
0016%
001812
0019:0
0021143
002312
002511
0025%3
00039040
0025:3
002513
002713
003110
003412
00043000
003512
0037144
003711
0041¢2
004440
0046130
004811
004811
00037000
004811
005113
005412
005510
00050000
005540
005510
0057140
005811



\

PRT(¢217) = START

END ESPRBIT:%

00056000 T 005813
00026000
S1Zg= 0059 WORDS



PRT(14)
PRT(15)
PRT(16)
PRTC17)

LABEL FINDIT}
REAL RFSULT1=12 ,RESULT?=13 ,RESULT3=14 ,RESULTA=15 3%

RPSULTY
ReSULT?
RESULT3
RESULTY

EERBERFYRAI IR E AR R R X X R Y R T R B Y YL XTSI LLELY
R A R R S T T T ITIITIII YY"

g * *3
4 MTSCFLLANEOUS FIFLD DEFINTITIONS %%
%% *3

L R R e T T R L T
%ZX%Z%ZX%%%Z%%!Z!Z!%Z%%%Z%%ZZ!%#Z%%Zx%%%%%%%%%%XZ%%X%%X!%%!Z%%Z!%ZXXZZ%%

$167=

FIELD X167=
FF = 18115 % %167~

»CF = 33815 % 2167=
»CTF = FF % £167~
»CTC = CF 4 £167=

' MSFF = 16301 % L167=

H ¥167=

% ¥167=
3 FIFLDS OF AIT ENTRY 2167~
;3 L2167~
FIELD 2167=
FILFBIT = 01:01 % £167~

s OWNRIT = 072101 % %167 =
sDIMENSTONS = 03%05 % $167=

» BLKeNTR = 08:10 % 2167

» MOM = 18:15 % 2167=

H X167~

% £167~
3 FIELDS OF DATA DESCRIPTOR $167=
¥ %167=
FIELD , $167=

¥ FLAGBITF = 0000 %167~
4 DATABITF = 01801 ALWAYS OFF FOR A DATA DESCRIPTOR $167=
PBIT = 02101 ON 1F DESCRIPTOR POINTS TO AREA OF CORF %167~
»S1ZF = 08110 S1ZF OF ARRAY ROW IF ARRAY DESC, 167~

0 FOR INDEXED DATA DESC, OR NAME DESC, X167=

£ »MOMADDRESSF = 188115 ADDRFESS OF MOTHER DESCRIPTOR, $167=
£ LADDRESSF = 33115 1F PBYT 1S ON THEN THIS FIELD CONTAINS ANZ167=

ACTUAL CORE ADDRESS, IF THE PBIT 1S OFF THEN
1F THFE VALUE OF THIS FIELD IS GREATER THAN
OR EQUAL TO 512 THEN THE FIELD CONTAINS Ag167=
DALOC ADDRESS WHICH CAN BE USED TO LOCATF THE
DATA IN THE OVERLAY DISK AREA ASSIGNED To THE
THE PROGRAM. IF THE VALUE OF THE FIELD IS LESS
THAN 512 THEN THIS FIELD CONTAINS A CODF %167~
INDICATING THE STATUS OF THE AREA, L1667 =
0 NEVER ACCESSED OVERLAY ARFA, %167=
1 NEVER ACCESSED SAVE AREA, ¥167=
2 NEVER ACCESSED OVERLAY ARFA WHICH
WHICH IS ASSIGNED TO AUXMEM,
5 INDICATES OVERLAY IS CURRENTLY IN
PROCESS FOR THIS ARFA 167~
6 INDICATES OLAY HAD IRRECOVERABLF

3R 30 DR IQ 2R IR JQ 2@ DR DR IV W 2Q IQ MR IQ DR IR HQ W AR

00057100
00058000

00060000
00060010
00060020
00060030
00060040
00060050
00060060
00060070
00060080
00060090
00060100
00060110
00060120
00060130
00060999
00061000
00061010
00061020
00061030
00061040
00061045
00061050
00061060
00061070
00061999
00062000
00062010
00062020
00062030
00062040
00062050
00062060
00062070
00062080
00062090
00062100
00062110
00062420
00062130
00062140
00062150
00062160
00062170
00062180
00062190
00062200
00062210
00062220
00062230
00062240
00062250

—~ -

DO OO VOO OO VOO DOOOITO IO O

000010
0000:0

0000t0
0000140
000010
000010
0000%0
000010
0000140
00001%0
000080
00001t0
0000:0
000040
000010
000040
000010
000010
0000t0
000010
000010
0000t0
000010
0000t0
000010
000010
000010
000010
0000:0
000010
000030
000030
000010
0000¢t0
000010
000010
000010
00001:0
000010
000010
000030
000010
000010
000010
000030
000010
000010
000010
000010
000010
000030
000030
000010



PRT(220) = AVAIL

PRT(221) = TAR

PRT(222) = TOGLE

¥
3
4

ARRAY TARf*1; BCONTAINS TOGLE BITS SET BY FACH JOB
DEFINE LOCKTOGCLOCKTOG1)= BEGIN TOGLE!=YOGLF AND NOT LOCKTOG!}?

DEFINE UNLOCKTOG(UNLOCKTOGY)= BEGIN TOGLES=TOGLE OR UNLOCKTOGY:
TARLPIMIX)t=TAR[PIMIX] AND NOT UNLOCKTOG13 END#}

R IR IR d¢

MISCELLANEOUS DEFINES

NDEFINF
CURRLKCNTR
»ATTNDX

FTF
WFTC

»DELTA

» TSX

s SFINTX
» INTRPTX

DFEFINE MEND

’
INTEGER AVAIL3®

COMMENT AVAIL CONTAINS THE ADDRESS OF THF STOPPERYX
FOR AVATLABLE STORAGE LINKS [TS VALUE ]S%

H O 80 u8ua

16 ¢ ¢
6 ¥ g
18¢18:15 # ¢
33118215 2 ¢
11 # ¢
22 ¢ g
27 ¢ g
28 & ¢

ERROR WHEN OVERLAYING THIS AREA,
THE NEXT ACCESS TO THE AREA WILL
CAUSE THE PROGRAM TO0 BE TERM[=

NATED,

THE WIGHFEST AVAILABLE ADDRESS=13%

DEFINE MSTART = MrO1,[CF1#3

COMMENT MSTART CONTAINS THE ADDRESS OF THEZR
FIRST AREA OF STORAGE AFTER END OF%
ESP PROGRAMI %

= MrOl,[FF)#)

COMMENT THIS POINTS TO LAST STORAGE LINK [N%
MEMORY: g

REAL ToGLES

DEFINE HP2TOG

TARTP{MIX)3=TAR{P{MIX] OR LOCKTOG15 END#;

= TOGLE,[ua7%17#, HP2MASK = e1¢
» STATUSBIT = TOGLE,[46311#, STATUSMASK = (FY’
» SHFETFREE = TOGLE,[45811%, SHEETMASK = 4
» STACKUSE = TOGLF.Lu4t11%, STACKMASK s @10#
,STOREDY = TOGLE.[43%311#%#, STOREMASK = @20
»USERDISKREADY= TOGLE.r42%31#» USERDISKMASK= @g40#
+HOLDFRFF = TOGLE,[4131)%, HOLDMASK = @100%
»NSECONDREADY = TOGLE,r40811#, NSECONDMASK = 8200¢%
»ABORTARLE = TOGLE,[39'17#, ABORTMASK = ®400¢#
,RUMPTUTIME = TOGLE,[388171#, BUMPTUMASK =01000#
+KEYBOARDREADY = TOGLE,[37%11#, KEYBOARDMASK =82000#
+NOBACKTALK = TOGLE,[36811%, NOBACKTALKMASK=®@40004#
LQTRDY = TOGLE.[35¢11%#, QTRDYMASK =010000#
» INTFREE = TOGLE.C[34%11%, FREEMASK =820000%
»SPOFDNULLOG = TOGLF.[3331)%

»REMOTELOGFRFE = TOGLE,[32%111#, REMOTELOGMASK = @100000#

»EGGSELECTSTOPPED = TOglp, (313112

+STARTOG

+NINETEENNOTRFADING=TOGLE.[29311#, NINFTEENMASK=81000000%

TOgLE,.[30%13#

$167=
$167=
L167~
$167=
$167=
$167~=
$167=
X167~
£167=
2167=
X167~
X167=
¥167=
¥167~
2167=

00062260
00062270
00062280
00062290
00062999
00067000
00067010
00067020
00067030
00067040
00067050
00067060
00067070
00067080
00067090
00067100
00067110
00067999
00069000

00070000
00071000
00072000
00073000
00074000
00075000
00076000
00077000
00078000
00079000
00079100

00079200
00079300
00079400
00079500
00080000

00080100
00080200
00080300
00080400
00080500
00080600
00080700
00080800
00080900
00080950
00081000

00081100

00081200
00081300
00081400
00081500
00081600
00081610
00081620

SO ODDTVTOOOOOOODOOODODODTOODOOOOO

e e e g g

- - — -

N o g o = —f —f —

000010
000010
000020
000010
000010
0000%0
000010
000010
000010
000030
000080
00001t0
0000:0
000010
000010
000080
000080
0000140
0000:0

000010
000010
0000¢0
000010
000010
000010
000030
0000140
00001410
000010
000010

000010
0000140
000010
000010
000010

000010
000010
000040
0000:0
000040
000010
000010
000040
000010
000010
000040
000010
000040
000010
000030
000040
000010
000010
00000



PRT(223) =

» SMWSTOPPED=TOGLE,[28:11#, SMWSTOPPEDMASK=@2000000#
PNCWAITING=TOGLE.[27811#
»NCAPTSTOPPEDN=TOGLE,.[26811¢%
» INQUPTSTOPPFN=TOGLE, 2581 #
sMCPFREE=TOGLE . T24%1)#, MCPMASK=R40000000#
% USFD TO PROTECT DISK SEGMENT ZFRO
»SCRATCHDIRFCTORYREADY = TOGLE.[2311)#,
SCRATCHDIRFCTORYMASK = 8100000000#
£ USFD TO PROTECT THE SCRATCHDIRECTORY
sFINDINGADDRESS=TOGLE, (221112
£ SET TRUE WHENEVFER THE INDEPENDENT RUNNING ROUTINE
% "FINDFREEADDRESS™ 1S STARTED S0 THAT ONLY ONE CoPY
¥ WILL BE RUN AT ONE TIME,
»COFREE=TOGLE.[21%1)%2COMASK=®400000000#
¥ SET TRUE WHEN CONTROL DECK QUEUF IS FRFE
P NOMFM=TOGLE,[15861% XGETSPACES HANGING
sBREAKTOGSTOGLF,L1431)# YRREAKQUT TO0g
»BRFAKMASK=8100000000000#
sSEPTICTANKING = TOGLE,[1381)#
+DIRECTORYTOG = TOGLE,r128112
»DIRFCTORYMASK = 8400000000000#
»NOMEMTOG = TOGLE,[11%1)% % ON TF NOMEM SINCE LAST NSFCOND
» MEMNO = (981312 2 912 = COUNTER FOR NSECOND

’
STREAM PROCEDURE MOVE(NI"WORDS FROM™(HERF)I"TO"(THFRF)} %
MOVE
VALUE N,HERE+THERE} %
WILL MOVE O TO 4095 WORDS:%
BFGIN LOCAL NDIV64i%

cOMMENT

00081630
00081640
00081650
00081660
00081670
00081675
00081680
00081690
00081695
00081700
00081705
00081706
00081707
00081710
00081711
00081950
00081960
00081970
00081972
00081974
00081976
00081980
00081982
00081999
00082000

00083000
00084000
00085000

START OF SAVE SEGMFNT} BASE

S1¢«LOC N3 DyelOC NDIV643 S1¢S1+63 DI1eDI+73 pSel CHR3}
S1¢HERES DI«THERE:%
NDIVO4(DSe32 WDS3 DSe32 WDS)3 DSeN WDS3%

FND MCOVES%

00086000
00087000
00088000
00089000

000010
000010
000020
000030
000010
000030
000010
000030
000010
000010
000030
000010
0000:0
000010
0000t0
000010
000010
0000%0
000030
000010
00001%0
0000¢0
000010
00001:0
000030

N o o o = —y =~ — -

000040

0000%0

000030

ADDRESS = 00059

T 000030

T 000111

T 000143

T 0003:2
00085000

SI1ZE= 0004 WORDS

-y -



PROCEDURE STOPM(B)S VALUE B3 BOOLEAN B3 FORWARD

00089100

START OF REL SEGMENTS DISK

PRT(224) = STOPM
LABEL nIFFCOMS
SAVE PROCFDURE FORGETSPACE(LOC)}%

00089200
00090000

START OF SAVE SEGMENT}S BASE

PRT(225) = FORGETSPACE
VALUE LoC3%
REAL LOC3%
FORWARD; %
ARRAY RED[*1} 3 UMIXMAX+4
PRY(226) = RED
COMMENT ENTRIES IN THE BED HAVE TWO WORDS,%
THE FIRST WORD HAS THE FOLLOWING FORMATI%
0= 2 = 5%
3= 7 = MIXINDEX%
8=17 = 0%
18=32 = F REGISTER SETTINGY
33=47 = ADDRESS OF WORD TO BE TESTED,%
THE SFCOND WORD 1S A MASK IF BIT O IS OFF.%
T:E ss;own WORD 1S AN ACCIDENTAL ENTRY DESCRIPTOR IF RIT 0
1S ON3
COMMFNT PIMIX»P2MIX NOW DECLARED AT 000217003
COMMENT PIMIX IS THE M1X INDEX FOR THF JOB BEING CURRENTLYX
PROCFSSED, PiMiX = 0 MEFANS NO JOB 1S CURRENTLY BpINgE
PROCFSSFD. P2M1X IS THE MIX INDFX FOR THF JOB BEINGX
CURRFNTLY PROCESSED ON PROCESSOR 2, [F PROCESSOR 1S 1DLE
THEN P2MIX = 0. IF THERE IS NO PROCESSOR 2 THEN P2MIX==1}
REAL, DATE=e1473
NATE

PRT(147)
COMMENT DATFE CONTAINS TODAYS DATE;%
REAL XCLOCK=@171;
XcLOcK
REAL READY=8172;
PRY(172) = Rrany

PRYC171,

COMMENT RPADY CONTAINS THF CONTENTS OF THE READY REGISTER ONY
THE LAST READSX :
COMMENT STATUSBIT 1s FALSE IF THE STATUS ROUTINE IS RUNNING AND
TRUE oTHERWISE, THIS PREVENTS TWo COPIES OF STATUS FRoME
RUNNING TOGETHERS %
ARRAY PRTI*»%x)3 %
PRT(227) = pRT
COMMENT PRTUI»%) CONTAINS A DATA DESCRIPTOR WITH PROPER SIZEX
FIELD POINTING AT PRT FOR JOB WITH MIX INDEX #= [;%
ARRAY PRTROWEPRT[x]: £ MiXMaAX+1%
PRT(227y = PRTROW
COMMENT PRTROW IS DOPE VECTORS FOR PRT!®
ARRAY JAR[*,%)3%
PRT(230y = JaAR
£ JAR HOLDS INFO OF JOBS IN PROCESS (SEE DEFINES AT 20544000)
DEF INE
LIBMAINCODE=1#, LDCNTRLCODF=3#, PRNPBTCODE=S#,
SYSJOBF=[6331#, SSYSJUOBF=[513)#%;
¥ SFF 20556700 RE SYSJOBF (SYSTEM JOB FIELD)
% SEF 20515000 RE SSYSJOBF (SHEET SYSTEM JOB FIELD)
$ SET OMIT = NOT(WORKSET)
ARRAY STQUFI[*13 % QUEUE FOR "STOPPED™ JOBS» 16 LONG

00091000
00092000
00093000
00094000

00095000
00096000
00097000
00098000
00099000
00100000
00101000
00102000
00103000
00104000
00105000
00106000
00107000
00108000
00109000
004910000
00111000

00112000
00114000

00121000

00122000
00123000
00125000
00126000
00127000
00128000

00129000
00130000
00131000

00132000
00133000

00134000
00134010
00134020
00134030
00134040
00134050
00134100
00134110

T 000010
ADDRESS =

T 0000:0
T 0000310
ADDRESS =

0000%0
0000:0
000010
000010

-t - =~

000040
0000¢t0
0000t0
000010
000010
000010
000040
00000
000010
000010
0000t0
000010
0000130
000030
00001:0
000010
000010

ot A A ) o 4 — -4 —

000010
0000:0

— -

000030

0000:0
000030
000030
0000:0
000030
000030

— et — -~ =

000020
0000:0
0000:0

-

000030
000010

— -

000030
0000:0
000010
000010
000010
0000%0
00000
000010

- = -~ —

00002

00063




PRY(231)

PRT(232)

PRT(233)

PRT(234)

PRT(235)
PRT(236)

PRT(237)
PRY(237)
PRT¢240)
PRT(230)

STQUF
NEFINE STOUFMAX = 15¥#; 00134115
ARRAY Op AYTIMEr*13 % USFD FOR STORAGE OF OLAY OVERHEAD TIME 004934120
OLAYTIME
PROCEDURE WORKSET¢Nn)? VALUE N3 REAL N3 FORWARD; 00934125

START oF REL SEGMENT) DISK

WORKSET
ARRAY WKSETIDATA([x]}

WKSETDATA 00134130
£ ARRAY USED FOR STORAGE OF WORKSET INFORMATION 00134140
DEFINE WKSETcLOCK s WKSETpDATA([Ol#» 00134150

¥ TIMp AT WHICH WORKSET ROUTINE HAS STARTFD 00134160
% T0 RUN 00134170
WKSETRUNNING = WKSFTpATA[1],L4781)2, 00134180
% TOGGLE TO INDICATE THAT WORKSET 1S RUNNING 00134190
WKSETNOSELECT = WKSFTDATAr1).046811%, 00134200
£ TOGGLE TO PREVENT SELECTRUN FROM PLACING 00134210
% ADDITIONAL JOBS IN THE MIX 00134220
WKSETMONITQR = WKSETDATAr1l.04589)#, 00134230
¥ ToGGLE USED TO "MONITOR" WORKSETDATA 00134240
WKSETMAXOLAY = WKSETNATA[2])#» 00134250
¥ MaAX, FRACTION OF PROCESS TIME TO COMPUTF 00134260
T MAXTMUM ALLOWABLE OLAY TIMF 00134270
WKSETOLFRANCF = WKSPTPRATAr31#, 00134280
% FRACTION USED TO COMPARE JOB STATISTICS 00134290
¥ (ALLLOWABLE VARIANCE TO COMPUTE MAX,VALUFS) 00434300
WKSETINSTRUCT = WKSETDATAr41#, 00934310
£ INSTRUCTIONS FOR COMPARING JOB STATISTICS 00934320
% FRACTION OF ToTAL SYSTEM CoRE WHICH MUST 00134330
% BE KEPT AVAILABLE 00134340
WKSETCYCLETIME = WKSFTDATALSI#» 00134350
£ CYCLE TIME (64THS OF A SFCOND) FOR WHICH 00134360
£ THE WORKSET ROUTINE IS RUN, QUEUED aT 00134370
£ "TIMER"™ IN THE OUTER BLOCK 00134380
WKSETSTOPJORS = WKSFTDATALOG)#, 00134390
T BIT INDFX C(TWOCMIX)) FOR JOBS WHICH HAVF 00134400
% BFEN "ST=gD" BY THF WORKSET ROUTINE 00134410
STFIRST = WKSFTDATAr71.[CF1%, 00134420
% INDEX TO FIRST ENTRY [N THE "STQUE® 00134430
STNEXT = WKSETDATAr71.CFFl#, 00134440
% INDEX To NEXT AVAILABLE SLOT IN "STQUEW 001134450
WKSETSWITCHTIME= WKSETDATA[81#s 00134460
% TIME OF LAST "BoJ" OR "EQJ"™ EVENT 00134470
WKSETDATASIZE = og; % SIZE OF THE WKSETDATA ARRAY 00134480
$ POP NMIT % WORKSFT 00134490
ARRAY INTRNSCU&13 REAL INTSIZF:% RE=ENTRANT INTRINSICS ON USFR DISK 00135000
INTRNSC
INTS12E
ARRAY INTABLFI[w,%]s INTABLEROWSINTABLFI%);% 00135100
INTABLFE
INTABLEROW
$ SET OMIT = NOTCAUXMEM) 00135199
ARRAY SHEFT[r*13 £ 5% 00136000
SHEFT
ARRAY JARROW=JAR[*]} T MIXMAX+1% 00138000
JARROW
DEFINE TARCNTITABCNT1) = JUARROWITARCNTIJ,[FFI#3 00138100

T 0000:0
T 000030

T 000030
ADDRESS =

-

000010

000020
0000t0
000010
000010
000030
000030
000030
000010
000030
000010
0000:0
00000
000010
000030
000010
0000:0
0000t0
0000:0
000030
000030
00000
000040
000010
000010
000010
000040
000010
000010
0000:0
000010
000010
000030
000010
000010
00000
000010
000010

e ) o ot —f = = = ]t = = — ~f —

T 0000:0

000030
0000¢t0

-

T 000010

T 0000:0

00002



PRTc241)

PRT(242)

PRT(243)

PRT(244)
PRT¢?245)

PRT(246)

PRT(247)
PRT(250)

PRT(251)

PRT(252)
PRT(253)

COMMENT TARCNT IS THF NUMBFR OF PROCESSES WHICH HAVE CHECKFD
JARROW AND ARE CURRENTLY ACCFSSING MIX TABLES, IT ASSURES
THAT THE TABLES DONT VANISH BENFATH THOSE PRorESSESt

COMMENT ENTRIES IN THE SLATE HAVE TWO WORDS, EACH ENTRY%
DESCRIBES AN INDEPENDENT ROUTINE WHICH NEEDS To BE STARTED
RUNNINGs NOTHING TO DO STARTS THESE RQUTINES, %
THE FIRST WORD oF AN ENTRY IS A PARAMETER TO THE ROUTINE.
THE SECOND WORD OF AN ENTRY IS THE PRT ADDRESS OF THEZ
ROUTINE .3
NSLATE AND LSLATE ARE POINTFRS TO THF SLATE.%
NSLATE POINTS AT LAST ENTRY WHICH WAS STARTED.%
LSLATF POINTS AT LAST ENTRY PLACFD IN THF SLATF: %

REAL. JOBNUM3 g

JOBNUM
COMMENT JoBNUM POINTS AT | AST ENTRY IN BED: %X
COMMENT STACKUSE 1S TRUE IF THE INDEPEDENT STACK IS NOT IN USE,
OTHERWISE FALSE;X
Booi.EAN NOPROCESSTOG: %
NOPROCESSTOG

COMMENT NOPROCESSTnG IS TRUE IF NORMAL STATE PROCESSING 1S%
ALLOWENs OTHERWISFE IT IS FALSEe IT IS USED BY OVFRLAY AND
OTHERS T0 PREVENT CONFUSION; 2%
REAL SOFTI3 % NUMBFR OF JORS IN MIX HAVING SOFTWARE INTERRUPTS pDFCLARED
SOFT1
REAL WITCHINGHOUR,WORDOFEASES
WITCHINGHOUR
WORDOFEASE
COMMENT THESE USED T0 BE CONSTANTS IN THE OUTER BLOCK RUT WERE
MOVED HERE So EVERYONE COULD USE THEM, THEY CONTAIN?
WEITCHINGHOUR 5184000
WORDOFEASE 85525252525252525

5
DEFINE NDX=z=3#) ¥ NUMBER OF ENTRIES PER JOB IN NFO ARRAY

ARRAY NFO[=x1]3 EMIXMAXXNDX
NFO
COMMFNT NFO CONTYAINS THE FOLLOWING FOR FACH ACTIVE MIX INDEXS
NFOCCMIX™1)xXNDX]) = FILE PARAMETER BLOCK DATA DESCRIPTOR
% NFOL(MIX=1)xXNDX+1] = SEGMENTY DICTIONARY NAME DESCRIPTOR
3 NFOL(MIX=1)*NDX+2],[CF) = LOCATION OfF BOTTOM OF STACK (B=WORD)
4 NFOL (MIX=9)XNDX+2),[FF] = FSTIMATFD CORE REQUIREMENTS
z NFOCC(MIX=4)xNDX+2],01%817] = CLOCK TIME AT BOJ
ARRAY 1STACK([*]} ¥ 128%
1STACK
ARRAY PROCTIMEL®=]} ¥ MIXMAX+12
PROCT IMF
COMMENT PROCTIMELI]) cONTAINS PROCESSOR TIME FOR JOB WITHZ
MIX INDEX = 3%
ARRAY 10T IMEL*]3 $ MyxMax+1¥®
10T 1 Mp
COMMENTY TOTIME[]I]) CONTAINS I=0 TIME FOR JOB WITH MIX INDEX =1}
$ SET OM1T = NOT(NEWLOGGING)
DEFINE FUTOHOLNDER=DIRECTORYTOP=5#,
FEUTAPER=,98%,
DISKAVAILTABLEMAX=130%:
INTEGER NFUPS ARRAY EUIOI=13 ARRAY PEUIO[L=*] 3
NEUP
rulo0

00138110
00138120
00438¢30
00140000
00141000
00142000
00143000
00144000
00145000
00146000
00147000
00148000
00149000

00950000
00152000
00153000
00154000

00155000
00156000
00157000
00157100

00157500

00157600
00157700
00157800
00157900
00158000
00158100
00158200

00158300
00158400
00158500
00158600
00958700
00158800
00159000

00161000

00162000
00163000
00164000

00165000
00165009
00165800
00165810
00165820
00166000

- = - — ———

- At 44—

R

-

—

- - —

-y -

0000t0
000010
0000:0
000010
000010
000010
0000:0
0000:0
000030
000010
000010
0000:0
000010

000010
00000
0000%0
00000

0000:0
0000:0
0000:0
000010

000010

000030
000010
000010
000010
000010
00000
0000130

000030
0000:0
000030
000010
000030
0000310
000030

000010

0000130
000010
000010

000010
0000:0
0000+ 0
000030
0000t0
000010



PRT(254)

PRT(255)

PRT(256)

PRT(257)

PRY(260)
PRT(261)

PFUTO
$ SFT OMyT = NOT(SHARFDISK )
$ SFT OMYT = SHARFNISK
ARRAY AVTABLE[*) 3
AVTAB|E
$ POP oMIT
COMMENT NEUpP[CFJ CONTAINS THE NUMBER OF EUS ON DKA
NEUP NFUF CONTAINS THE TOTAL NUMBER OF EUS ON THE SYSTEM,
EUTO AND PEUIO CONTAIN THE I=0 TIME USED BY A GIVEN FU.
THIS INFORMATION IS USED BY GETUSERDISK IN AN ATTFMPT TO
MINIMIZE EU CONFLICT:
DEFINF MIXF = [3:351#;3%
ARRAY ecHANIO[=*];

CHAN10

ARRAY CHANNFLf%13 ¥ 5%
CHANNEL

COMMENT CHANNELCI) CONTAINS LOGICAL UNIT OF LAST DESCRIPTORS%
SENT QUT ON CHANNFL 13%

ARRAY FINALQUE([=*]} £ 32%
FINALQUE “

ARRAY LLOCATAUF[*1} g 32%
LOCATQUE

COMMENT TOQUE+FINALQUE, ANPD LOCATQUE TOGETHER WITH UNIT FORMZ
THE 1=0 QUEUF, AN I=0 REQUEST FOR LOGICAL UNIT U RFQUIRES
THREF WORDS OF SPACE (N THE 1=0 QUEUE, 1F THE REQUESTY
OCCUPTES POSYTION S IN THE 1«0 QUEUEs THEN 10QUErS] )%

T«n DESCRIPTOR FOR THIS REQUFST, FINALIS) = I=p DESCRIPTOR
SKELETON 70 BE USED AT 1=0 COMPLETE TIME TO REBUILDX
I=0 DESCRIPTOR» LOCATQUELS] = LOCATION OF I=0 DESCRIPTORY
AT TIME OF REQUESTs LOCATQUELS] CONTAINS SOME ADDITIONAL
INFORMATION, IN PARTICULAR:%

N= 2 = h%

3= 7 MIX INDEX OF REQUESTER®

B = 1/0 1S READ LOCK WHICH HAD ERROR (SHARFDISK),
9 = 0LAY 1/0 CIOFINISH PLACES RESULT ON FRROR),
10 = NO MpM MpSSAGE,
11 = ERROR RECOVERY IN PROCESS ON THIS I1=0

12=17 = LOGICAL UNIT NUMBERY

18=32 = JNDEX OF NEXT REQUEST TO BE DONE ON THJIS UNIT

OR @77777 IF NO NEXT REQUESTY
33=47 = ORIGINAL LOCATION OF I=0 DESCRIPTOR,%
UNTTtU1 CONTAJNS INFORMATION ABOUT LOGICAL UNIT U,%
1= 4 = TYPE OF 170 DEVICE%

5=12 = ERROR FIELD OF LAST 1/0 DONE ON THIS UNITX
13 = UNIT NOT RFEADY BIT®
14 = FRROR BIT (ON IF FRROR)¥%
15 = WAIT BIT (ON IF UNIT IS WAITING FOR » CHANNEL
16=17 = PROCESS RITS (USUALLY BOTH ON [F UNIT [S [N¥
PROCESS OR BOTH OFF, WITH PRINTERS THFEZ
T=0 FINISH SETS OFF 16 AND THE PRINTER%
FINISH SETS OFF 17)%
18=32 = INDEX OF FIRST lwp REQUEST FOR WHICH SERVICE

IS NOT COMPLETE%
33=47 = INDEX OF LAST UNSERVICED I"o REQUEST,%
THE SPACES NOT USFD IN THE 1®"0 QUEUE ARE LINKED TOGETHERS®
THROUGH [10QUE. THE FIRST AVAILABLE IS IN I0QUEAVAILIY
REaL 1OQUESLOTSs10QUEAVATIL}

00166002
00166005
00166006

003166007
00166010
00166025
00166030
00166040
00166050
00168000
00169000

00170000

00171000
00172000
00173000

00174000

00175000
00176000
00177000
00178000
00179000
00180000
00181000
00182000
00183000
00184000
00185000
00185100
00185500
00186000
00186100
00187000
00188000
00189000
00490000
00191000
00192000
00193000
00194000
00195000
00196000
00197000
00198000
00199000
00200000
00201000
00202000
00203000
00204000
00205000
00205500

e e e e e e R e g

—
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0000:0
0000t0
000010

0000t0
000010
000030
000020
0000:0
000010
000030
000010

000030

000010
000010
000010

0000140

0000t0
000030
000010
000010
000030
000010
0000130
000010
000010
000030
000030
000030
000030
000010
000010
000020
000040
0000t0
000030
000020
000010
000010
000010
000010
0000:0
000040
000030
000030
000010
000010
000010
000010
000010
000010
000010



PRT(262)
PRT(263)

PRT¢264)

PRT(265)

PRY(266)

PRT(267)

PRT(270)
PRT(271)

PRT(272)
PRT(273)
PRT(274)
PRT(275)
PRT(276)

PRY(C27T7)

PRT(300)
PRT(301)

PRT(302)
PRT(303)
PRT(304)

PRT(305)

10QUFSLOTS
10QUFAvVATL
ARRAY 10QUFT[*);
10QUE
DEFINF RETURNTOSPACE(CRETURNIOSPACEL) =
BEGIM J1O0QUESLOTSt=10QUESLOTS+13
10QUETRETURNTOSPACE11s=10QUEAVAILS
IOQUEAVAILStSRETURNIOSPACEY}
FND#S
ARRAY UNJT[*)3

UNLT
COMMENT UNIT NOW FILLFD IN INITIALIZES
ARRAY TINUL*1]3
TINU
COMMFNT TINU NOW FILLED IN INITTALIZES
ARRAY WATTQUEL*13 3 8%
WAITQUE
REA;, NEXTWAIToFIRSTWAIT; %
NEXTHWALIT
FIRSTWALT
COMMENT WATITQUE IS A QUEUE OF UNITS FOR WHICH THERE ARF%
RFQUFSTS BUT NO CHANNFL 1S AVAILABLE, NFEXTWAIT ANDS
FIRSTWAIT ARE POINTERS AT THE WAITQUE, NEXTWAIT 1S THEX
NEXT AVAILABLE SLOT IN WAITQUF AND FIRSTWAIT POINTS AT
NEXT UNTT TO BE USED WHEN A CHANNEL 1S AVAJLABLE?Y
ARRAY | ABF{,TAB(E[*]} ¥ 30%
I,ABE [, TABYE
ARRAY MU TITAB|E[%]3 2 32%
MULT I TABLE |
ARRAY RrDCTABLE[ %]} £ 372
RDCTARLE |
ARRAY PRNTARLE[*1:%
PRNTARLE
ARRAY RFPLYT*]1;3%
REPLY

COMMENT LABFLTABLE, MULTITABLF, AND RDCTABLF CONTAIN LABEL INFORMATIONS

BY LLOGICAL UNI1T NUMBER AS FoLLOWS:Z
LABELTABLELI) CONTAINS THE FILE ID FOR LOGICAL UNIT 1,%
MUI.TITABLECTT CONTAINS THE CORRESPONDING MULTI=FILE 1D,.%

RDCTABLEII] CONTAINS THE CORRESPONDING REEL NUMBER (IN [141101),

CREATION DATE CIN [243171)s AND CYCLE CIN {41271)3%
$ SET oMIT = NOTCSHAREDISK)
REAL OPTION}%
OPTION
REAL TLLsINGCTS
1LL
INQCT
REAL PINGO}
PINGO
REAL RFADQ,RRNCOUNTS DEFINE PUT=SFT#}
READQ
RRNCOUNT
§ SET OMIT = NOT(DATACOM )
ARRAY TRANSACTIONT=*]: £ 32%
TRANSACTION
DEFINE FTRLNG = S#3 2 LENGTH OF ENTRY IN FILE BLOCKS
SAVE RpalL PROCEDURF TWO(N)3 VALUE N3 INTEGER N3

00206000

00206500
00207000
00207500
00208000
00208500
00209000

00210000
00241700

00241800
00278000

00279000

00280000
00281000
00282000
00283000
00284000
00285000

00286000
00287000
00288000
00289000
00290000
00291000

00292000

00293000
00294000
00295000
00295999
00297000

00299000

00301000
00301100
00301200
00304000

00305000
00306000

- - —

- —

- —

-t~ -

-

- -

— e -~ -

—

0000:0

000010
0000¢0
0000:0
0000130
000030
000010

000010
000030

000010
000010

000010

0000140
000030
000030
000010
00000
00001t0

000010
000010
000010
000010
000030
0000130

000010
000010
000030
000010
000010
000010

000010

000010
000010
000010
000030

000010
000020



PRT¢306) = TWO

STACK(F41) = T

BEGIN REAL T=e¢1;

STREAM(NI=N =z4T7=N»T3=[T))3}
BEGIN SKIP N DB3 DSt=SET3 ENDS

END TWO3 %

START OF SAVE SEGMENT} BASE
00307000

00308000
00308500

00309000

ADDRESS = 00063

T

- —

T

0000:0

0000310

0002t
00308500

000381
00307000

S12e= 0004 WORDS




PRT(307)

PRT(310)

PRT(311)

PRT(312)
PRT(312)

PRT¢3¢3)

PRT¢314)

PRT¢315)

PRT(316)

PRT(317)

PRY¢320)

PRT(321)

PRT(322)

PRT¢323)

REAL SYLLABLE?Z
SYLLABLE
$ SET OMIT = NOT(SHARFDISK)
$ SET OMIT = SHARFDISK
DEFINE gYSNO=0#, SysMaXx=1#;
$ POP oMyt
COMMENT ANALYSIS PLACES THF SYLLABLE THAT CAUSED THE TNTERRUPT
IN SYLLABLE, TwI1S 1S USED BY PRESENCE B1T, FLAG BT, AND
VARInOUS ERRORS$%
PROCEDURE FORGETUSFRDISKCASL);VALUE AsL3REAL AsLIFORWARD} %
START 0oF REL
FORGETUSERDISK
REAL PROCFDURE PETUSERDISK(NsTI3VALUE NeT3REAL NeT3FORWARD 3
START OF REL
PETUSERNISK
$ SET oMIT = NOT DEBUGGING
$ SET OMIT = NOT pDEBUGGING
ARRAY nALOCI*»%1s DALOCROW=DALOC[*)}
nALOG
NALOCROW
8 SFT OMJT = NOT(RRFAKOUT)
REAL O|.AYMASK;} % FOR LOCKING OUT GETMOREOLAYDISK BY MiX INDEX
OLAYMASK
PROCEDURE USFRDISKSPECIALCASE(Q,RsU,J)3VALUE Q,JIREAL Q.,R,J}
START OF REL
USERDJSKSPECTALCASE
ARRAY UC*3J% FORWARD
DFFINFE BASF=30268#,%
CHUNKS1ZE=500#3%
REAL LFFTOFF3 COMMENT POINTFR TO CYCLE FOR OLAY}%
LFFTOFF
SAVE PROCFDURF DISKRTN(¢SEGNO, SIZE)$
START oF SAVE
NISKRTN
VALUE SEGNpe SIZE:
INTEGER SEGNo» SIZES
FORWARDS
PROCEDURE FORGETESPDISK(SEG)3VALUE SEG3REAL SEGIFORWARD?
START OF REL
FORGETFSPNISK
SAVE INTFGFR PROCENURE DISKSPACF(NWORDSsPIMIX,paUX)3 S
TAR
L 1SKSPACE START OF SAVF
VALUE NWORDS,P{MIX,AUX}
INTFGFR NWORDS,PIMIXSREAL AUXS
FORWARD S %
PROCEDURE STATUS; %
STATUS START oF REL
FORWARD3$ %
PROCEDURE INTERRUPT(TYPE)YsVALUE TYPE3;REAL TYPE; FORWARD}
RY
INTFRRUPT STA OF REL
REAL. PROCFNURE FINNOUTPUT(MID,FINs TYPE»FORMS, RFEL» CDATESCYCLESKIND) S
FINDOUTPUT START OF REL
VALUE MIDsFID»TYPE*FORMS»REEL»CDATE»CYCLE2KINDS®

00310000

00310099
00310199
00310200
00310204
00311000
00312000
00313000
00316000
SEGMENT3 DISK

00316100

SEGMENT3 DISK

00316999

00330999
00333000

00333099
00336000

00336100
SEGMENT3 DISK

00336110

00338000
00339000
00341000

00363000
SEGMENT} BASE

00363100
00363200
00363300
00364000
SEGMENTS DISK

00365000
SFGMFNT}? BASE

00366000
00367000
00368000

00369000
SEGMENT}3 DISK

00370000
00370500
SEGMENT) DISK

00371000
SEGMENTS DISK

00372000

T 0000t0
T 00000
T 000030
T 000080
T 0000%0
T 00000
T 000010
T 000080
T 000010
ADDRESS =
T 000010
ADDRESS =
T 000010
T 000010
T 000030
T 0000%0
T 000080
T 0000:0
ADDRESS =
T 000030
T 000010
T 0000%0
T 000010
T 0000t0
ADDRESS =
T 0000:0
T 000030
T 0000t0
T 00000
ADDRESS =
T 00000
ADPDRESS =
T 000010
T 000010
T 0000410
T 000010
ADDRESS =
T 000030
T 0000:0
ADDRESS =
T 000010
ADDRESS =
T 000030

00002

00002

00002

00067

00002

00067

00002

00002

00002



REAL MIDsFIDsTYPEsFORMS»REELSCDATE»CYCLESKINDS FORWARD; % 00373000 T 000030
REA!. PROCFDURE FINDINPUTCMID#FIDsREELsCDATESCYCLE»COBOLoULsOF sMODESFN)Y 3} 00374000 T 0000:0
START OF REL SEGMENT3; DISK ADDRESS = 00002
PRT(324y = FINDINPUT

VALUF MIDsFIDsREEL2CDATE»CYCLE»COROL UL OF»MODESFN3 Y 00375000 T 000030
REAL MINsFIDsREEL>CDATE»CYCLE»COBOL»UL»OF »MODESFN3 FORWARD; 00376000 T 0000:0
PROCEDURF STARTIMING(FN,U)3 VALUE FNesU3 REAL FNsU3 FORWARDSE 00377000 T 0000:0
START OF REL SEGM¢NTS DISK ADDRESS = 00002
PRT(¢325) = STARTIMING
PROCEDURF FILEOPEN(X,A)3 VALUE XsA3 INTEGER X,A3 FORWARDS 00379000 T 000030
START OF REL SEGMENT3 DISK ADDRESS = 00002
PRT(326) = FILEOPEN
SAVE PROCEDURE SAVEOPENCA); VALUE A3 REAL A3 00379100 T 0000%0
START OF SAVE SEGMENT; BASE ADDRESS = 00067
PRT(327) = SAVEOPEN
BFGIN FILEOPEN(2sA) END; 00379200 T 00000
00379200

SIZe= 0002 WORDS



PRT(330)

PRT(¢331)

PRT(312)

PRT(333)

PRT(334)

PRT(335%)

PROCENURF MIXPRINT(®Q); VALUE Q3 REAL Q3 FORWARD3
START OF REL
MIXPRINT
% TYPES <JOR SPECIFIFERS> FOR FACH ACTIVE MIX INDEX
PROCEDURF JOBMFSS(MIX»QrsAsBsrCoD)SVALUF MIXsQsAsRsCoD3
START OF REL
JOBMFSS
REAL, M1X»Q,AsB,CsD? FORWARD:
PROCEDURF SETNOTINUSE¢UsRWL)3 VALUE UsRWL3 REAL UsRWL3S FORWARDS
START oF REL
SETNOTINUSE
DEFINE SToPTIMING=STARTIMING?
PROCENDURF FILLBUFFERS(CURRENT»FINAL,COBOLsNR)}
START OF REL
FILLBUFFERS
VALUE CURRFENT»FINAL,COBOL.NR; REAL CURRENT+FINAL+COBOL»NR}
FORWARD:
NEFINF aFTRUFFFRS=FTLLRUFFFRS#;
PROCEDURF RFALFILFCLOSECA); yALUE A3 REAL A3 FORWARDS
START OF REL
REALFILECLOSE
SAVE prOCEDURE FILECLOSECAYS VALUE A; REAL A3
START oF SAVE
FILECLOSF
REGIN REALFILECLOSECAY END3

00379400
SEGMENTS DI1SK

00379500
00379600
SEGMENT3 D1SK

00379700
00380000
SEGMENT3 DISK

00382000
00385000
SEGMENT3 DISK

00385500
00386000
00387000
00389000
SEGMFNTS DISK

00389100
SEGMENT}) BASE

00389200

T 000010

ADDRESS = 00002

T 0000:0

T 000040

ADDRESS = 00002

T 000010

T 000010

ADDRESS = 00002

T 0000:0

T 000040

ADDRESS ® 00002

T 000010

T 000010

T 0000:0

T 0000%0

ADDRESS = 00002

T 0000t0

ADDRESS = 00069

T 0000t0
00389200

SIZE= 0001 WORDS



PRT(¢336)

PRT(337)

PRT(340)

PRT(341)

PRT(342)
PRT(343)

PRYCL1T77)
PRT(344)
PRT(345)
PRT(346)

REAL PROCFDNURE DISKANDRESS(MINsFIDsFPB32AsH»10)3
NISKADDRESS

VALUE MIDSFINDsFPR3sA»H, 101

REAI, MIDsFIDsFPB3sA»I103
FORWARD: %

ARRAY H[*]3}

4
START

¢

SHM
OF

2 (SHM)
% (SHM)

PROCEDURE RLASTQ(U)S VALUE U3 REAL U’ FORWARD; %

RLASTQ

)
R

00390000
15K

EL SEGMENTS D

00390100
00390200
00391000
00392000

START OF REL SEGMENT) DISK

REAL PROCEDPURFE FILFHEADER(MID,FIDsNROWS»SI1ZE+BLEN,RLEN,S)}%

FILEHEADER

00393000

START OF REL SEGMENT) DISK

VALUE MID,FIDsNROWS»STZE+BLLENIRLEN,S3 %

REAL MID,FID:%
INTEGER

NROWS»SIZEsBLENS»RLEN»SS FORWARDS %

PROCEDURF PURGEIT(U): VALUE U; INTEGER U} FORWARD3%

PURGEIT

REAL ESPTAB»ESPCOUNT:

FSPTAR
FSPCOUNT

REAL DIRDSK=81773

NIRDSK
REAL

FSPDISKTOP
REAL

ESPDISKBOTTOM}
FSPNISKBOTTOM
REAL ESPDISKTOP;

MESSAGEHOLDERS %
MESSAGEHOLDER

DEFINF USEDRA = OPTION,[4731)#%,%

USENRR = OPTION,(4631)%,2

ROJMESS =OPTION.(458114,%
FOJMESS =OPTION,[4431)¢,%
OPNMESS =0PTION,r433112,%
TFRMGO =0PTION,[4231)#%,%

GIVEDATE = OPTION, [4131)1%,%
GIVETIME = OPTION,[40111%,%
SAMEBREAKTAPE=OPTION,r39811#,
AUTOPRINT=0PTION,[38%13#,
CLLEARWRS=OPTION,[37%17#,
NOTIFYOP=OPTION,[3611)%,%
DISCONDC = OPTION,[36311#%»
COPNMESS=0PTION,[35811#,%
CLOSEMESS=OPTION.C3431)#2,%
FRRORMSG=0PTION,.[33:1)%,
RETMSG=0PTION.[3211]2,
LIBMSG=0PTION,[31311)%,
SCHEDMSG=OPTION,[30111%,
SECMSG=OPTION.[2911)#,
DSKTOGSOPTION,[28:11¢%,
RELTOG=0PTION.[27211%,
PBDREL’OPTION0[26l1]#o
CHECKLINK = OPTION,[25311#.
DISKMSG=OPTION[24311#,

£ HIGHEST ADDRFSS OF ESPDISK

00394000
00395000
00396000
00397000

START oF REL SEGMENT3 DISK

% LOWEST ADDRESS OF ESPDISK

£ NOT CURRENTLY USED,

3/73

LIBERR =(OPTION,[2211) OR (SPOUTUNIT,[CFJ=0))#2s» % FROM SPOZ589"

USEPRD=OPTION,[2131)#,%
SVPBY sSOPTION,[20:11%,%

%DS

00399000

00400500
00401000
00401100
00402000

00403000
00404000
00405000
00406000
00407000
00408000
00409000
00410000
00411000
00412000
00413000
00414000
00414100
00415000
00416000
00416050
00416100
00416200
00416300
00416400
00416500
00416520
00416550
00416560
00416570
00416%90
00416600
00416610

T 000040
T 000030
T 0000%0
T 000010
ADDRESS =

T 0000:0
ADDRESS =
T 0000:0
T 00000
T 0000:0
T 000010
ADDRESS =

T 0000:0

T 0000:0
T 0000:0

0000:0

—

-3

0000:0

0000t0
0000:0
0000:0
0000:0
0000:0
000010
000010
0000:0
000010
000010
000030
000030
0000:0
000010
0000:0
000010
000010
000010
0000:0
0000:0
0000:0
0000:0
000030
000040
000010
0000:0
000040
0000:0

e e R I R R I R R I e I IR B R B e T

00002

00002

- 00002

00002



PRT(347)

PRY(350)

PRT¢351)

PRT(352)
PRT(353)
PRT(354)

RSTOa=OPTION,[19311#,
AUTOUNLD=OPT1CN 183112,
AUTORN = OPTION,[17%13%, 2902=

CoDEOLAY=0PTION,L16311#»

CoOREST=0oPTION.[158112,

DATAOLAYSOPTION,[1431)%»

HALTSET=0PTION,[13:1)%,

STOPTEST= OPTION.[8:1)#»

PUNCHLCK=OPTION,L7:11#%»
CNDONLY=0PTION,[6831]%,
PKTONLY=SOPTION,[S:11)%,
SEPARATE=OPTION,[4t114#,

MOD310S=0PTION,[2:11#,

AUTOMFESS = OPTION,[1311¢#%,
AUTODS = OPTION, [ 18112,

XXXXXX= OPTION,[030)}#3%

% ACTS FOR OPERATOR

X747~

DEFINE ROJRIT = 45118142:61#,

FOJRIT = 44711834236]%,
OPNRIT = 43[18142361%>»
FOPNRIT= 35718342:161%,
rLOSFRIT=34718342161¢,
FRRRBIT = 337r18:4216)¢%,
LIRBTT = 31r18142363%,
SCHFDB1T=30r 182428614,
SECBIT = 29r18142161#,
RSBIT = 1(9[1R1I42:6]#%,
NEVERRIT=62118842161#,
ALWAYSBIT=63[18842861#;

REAL USFRDISKBNTTOM;

USERDISKROTToM
% DISK ADDRFSS
REAL DIRFECTORYTOP;
NTRECTORYTOP
¥ D1SK ADDRESS
$BY MCP LOADER
REAL D1SKROTTOM;
NISKBOTTOM
¥ DySK ADDRESS

OF USER DISK AVAILABLE TaABLE

OF DIRECTORYTOP SEGMENT==STORED IN M[1]
AND STORED IN MCP PRT(DIRECTORYTOP)

oF ToP oF BYPASS DIRECTORY, USED [N SCRAMBLE,

$ SET oMIT = NOT(SHAREDISK)
$ SET oMIT = SHAREDISK
REAL HOLDFRNEXTSLOT»BYPASSS

HOLDER
NEXTSLOT
BYPASS

$ SET OMIT = NOT STATISTIcS OR OMIT

NEFINE wOLNMAX = 30#;

g MAXIMUM NUMBER OF ENTRIFS IN HOLDLIST

COMMENT THF HOLDLIST CONTAINS A ONp WORD ENTRY FOR EACH PROCESS
THAT 1S WAITING TO USE A FILE THAT 1S ALREADY IN USE,
HoLDLISTLI1e(FF3I=THE CoRE ADDRESS OF THE WORD THAT THE

WAITING PROCESS 1S SLEEPING ON,

HOLDLISTCI)«[CcFIaTHE DISK ADDRESS OF THE FILE HEADER

THAT IS BEING WAITED FOR.

HOLDLISTL1)«[10t8)=MIX INDEX OF THE PROCESS THAT MADE THE

ENTRY, (TSSMCP ONLY)

HOLDLISTLI),[232)Y%THE SYSTEM NUMBER (SYSNO) OF THE SYSTEM

THAT MADF THE ENTRY (SHAREDISK ONLY),

HOLDLTISTETI).0111) 1S SFT BY A SYSTEM TO NOTIFY ANOTHER

00416620
00416630
00416710
00416730
00416740
00416750
00416751
00416760
00416770
00416780
00416790
00416800
00416990
00416992
00416995
00417000
00417010
00417020
00417030
00437040
00417050
00417052
00417060
00447070
004497075
00417080
00417090
00417100
00418000

00418010
00418050

00418060
00418070
00418100

00418200
00418799
00418849
00418850

00418859
00418900
00418910
00418915
00418920
00418925
00418930
00418935
00418937
00418938
00418940
00418945
00418950

A A A A A A A A A A = =4 - == = — T ——

e D

e |

——— =

Nt = -~

000010
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
000010
0000:0
000010
000010
000030
000030
000030
000030
000010
000030
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0

000010
0000:0

0000:0
0000:0
000010

0000:0
000040
0000:0
000010

000010
0000:0
0000:0
000040
0000t0
0000:0
0000:0
000010
0000:0
0000:0
000040
000010
000010



SYSTFM TO AWAKEN THE PROCFSS THAT MADE THE ENTRY,

THE NSECOND ROUTINE EXAMINES THE HOLDLIST 1IN

ORDFR TO CHECK FOR THIS CONDITION (SHAREDISK ONLY).
DIRFCTORYSEARCHs NSECOND» AND CLEANOUT ARE THE PROCEDURES

THAT MANIPULATE THE HOLDLIST,

THF WORDS ASSOCTATFED WITH DIRECTORY HANDLING ARE?!
HOLDER,{CF] = D1SK ADDRESS OF HOLDLIST,
JFF1 = NUMBER OF ENTRIES IN HOLDLIST,
NEXTS| 0T = DISK ADDRESS OF FIRST HEADER IN QUEUE OF
EMPTY SPOTS IN DIRECTORY (NEXTSLOT QUEUE),
BYPASS,[CF) = LOWEST ADDRESS OF THE BYPASS DIRECTORY,
o[FF) = HIGHEST ADDRESS OF THE MAIN DIRECTORY,
ON SHAREDISK» HOLDERs NEXTSLOT AND BYPASS ARE KEPT IN THE FIRST
THREE WORDS OF THE DISK SEGMENT LOCATED AT DIRECTORYTOP4+2, A
READ LOCK MUST BE DONF BEFORE ACCESSING THE HOLDLIST OR NEXTSLOT
QUFUF OR EXPANDING EITHER THE MAIN OR BRYPASS DIRECTORIES,
END COMMENT:
INTEGER RESTARTINGS TPASSLEVE[, CONTROL (RS)
PRT(3%55) = RESTARTING
¢ SET oMJIT = NOT(BRFAKOUT)
DEFINE SCRAMBLF(SCRAMBLE1»SCRAMBLE2)=(=2x
C(SCRAMBLF 14061181 +SCRAMBLEL1+L241241) MOD MODULUSXMODULUS+
(SCRAMBLE24.L6:181+SCRAMBLE24[243:241) MOD MODULUS) +
N1SKROTTOMY®,
MopulLusS=13%, DIRMOD=169#;
cOMMENT
THE RFLATIONSHIP BETWEFN MODULUS AND DIRMOD 1St
DtRMOD t= MODULUS x MODULUSs WHERE MODULUS 1S A |OW
oDD PRIME. (THE RECOMMENDED VALUE oF mODULUS 1S 13),
FOR SYSTEMS WITH ONLY 4 MEMORY MODS» MODULUS MUST BE
SET To A SMALLER VALUE SO THAY DIRECTORYBUILDER WILL
NOT GET A NO=MEMe MAKING IT IMPOSSIBLE TO HALT/LOAD,
IT IS SUGGFESTED THAT MoDULUS BE SET TO 11+ DIRMOD TO 121
FOR A SYSTEM WITH o MODSe 1T MAY BE NECESSARY TO SET IT
SMALLFRs DEPENDING UPON DISK CONFIGURATION}
ARRAY FSl%s%x)3 ARRAY FSROW=FSr*]}
PRT(3%6) = ¢S
PRT(356) = FSROW
ARRAY USERDISKI*];
PRT(¢357) = USERDI1SK
$ SET OMIT = NOT DEBUGGING g763=
$ SET oMIT = SHAREDISK
DEFINE |LOCKDIRFCTORY =
BEGIN IF NOT DIRECTORYT0OG THEN SLEEPCLTOGLEIsDIRECTORYMASK)S
LOCKTOG(DIRECTORYMASK)}

FND#,
UNLOCKDIRFCTORY =
BEGIN
UNLOCKTOGC(DIRECTORYMASK)
END#3
$ POP oMIT
BoolLLEAN OKSEGZFROWRITES X204 =

PRT(360) ® nKSEGZERQWRITE
§ SET oMIT = NoT SHAREDISK
REAL LOGFRFEAIOMASK»SAVEWQORDS
PRY(361y = |,0GFRFE
PRT(362y = TOMASK

00418955
00438960
00418965
00418970
00418975
00418980
00418985
00418990
00418995
00419000
00419005
00419010
00419015
00419020
00419025
00419030
00419035
00419040
00419100

00419104
00419110
00419120
00419130
00419140
00419150
00419210
00419220
00419230
00419240
0041925%0
00419260
00419270
00419280
00419290
00419300
00419400

00419900

00419999
00421099
00421100
00421200
00421300
00421400
00421500
00421600
00421700
00421800
00421801
00422100

00422490
00425000

ek e e e R e e e e

4ttt o = = =

-

4 O gt~ o — T

00000
000010
000030
0000140
000010
000010
0000:0
0000:0Q
0000:0
000010
000010
0000:0
0000:0
0000:0
00000
000010
00001t0
000040
000010

000010
0000:0
000010
0000:0
000030
000010
000040
000010
000010
0000:0
0000%0
0000¢0
000030
000010
0000t0
0000:0
0000t0

0000:0

000030
000010
000030
000010
000010
000010
000040
00000
000010
000030
000030
0000t0

0000:0
0000t0




PRY(363y ® SAVEWORD
REAL CORE3
PRT(364) = rORF

TUSED FOR SELFCTION PURPOSES

COMMENT
CORF,[4314) = MULTIPROCESSING FACTOR (x100)
CORF,[18115) = SUM OF cORE ESTIMATES FOR ALL JOBS
NOW ACTIVE IN THE MIX (DIV 64)
CORF.[33:15) = AMOUNT OF CORF MEMORY INITIALLY AVAILABLE FOR
PROCESSING NORMAL STATE JOBS (DIV 64)3
PROCEDURF SFLECTRUNCF): VALUF F3 RFAL F3 FORWARDS

00426000

00426100
00426200
00426300
00426400
00426500
00426600
00426700

START OF REL SEGMENT}I DISK

PRT(365) = SELECTRUN
DEFINE SELFCTION = INDEPENDENTRUNNERCPC¢,SELFCTRUN),0,160)%}
PROCEDURE CONTROI,CARD(AXIVALUF ASREAL A3 FORWARD:X

00426800
00427000

START oF REL SEGMENT} DISK

PRT(366) CONTROLCARD

REAI, PROCEDURE DIRECTORYSEARCHCA»Rs»C)ISVALUE AsBeC3 %

00428000

START oF REL SEGMENTs DISK

PRT(367) = NIRECTORYSFARCH
REAL A»BeC3 FORWARD; 3
DEFINE HFEADFRUNLOCK=HU#»
HUCHU1 s HU2)HU3) =
P(MKS»HU3+HU1»HU2,92nIRECTORYSEARCSDEL)#;
REAL DIRFCTORYSFARC=NDIRFCTORYSEARCHS
PRT(367) = nIRECTORYSFARC
¥THFADFRUNLOCK AN BF USED TO WRITF IN THF DIRFCTORY A CHANGFD
% HWEADFR, TURN OFF THF INTFRLOCK BIT AND DO THE FORGETSPACF
$% 7 MAY BE CALLED ONLY AFTER A DIRECTORYSEARCH(A,Bs4)
%2 THE PARAMETERS PASSED MUST BE (A,B,DS)3
2% WHERE AsB ARE THE SAME AS PASSED To THE DIRECTORYSEARCH
% AND DS 1S THE RESULT oF THAT DIRECTORYSEARCH
REAL OLDIDLETIME;
PRT(370% = oLDIDLETIME
PROCEDIIRE ARTNCA»N)YSs VALUE AsN3 ARRAY AL%); INTEGER N; FORWARD:%

00429000
00430000
00430100
00430200
00430225

00430250
00430275
00430300
00430400
00430500
00430600
004300600

00431000

START OF REL SEGMFNT3 DISK

PRT(37%) ARTN

SAVE PROCFDURFE DISKIOCLsCoSsn)3 VALUE C»S,D3 REAL L3 INTEGER C,SeD3%

00432000

START OF SAVE SEGMENTS BASE

PRT¢372) = Nni1Skip
FARWARD %
ARRAY MESSAGETABLEC=*13
PRT(373) = MESSAGETABLE
DEFINE MESSAGETABLESIZE 3 S#; % NUMBER OF MESSAGETABLE ENTRIES

DEFINE
OPTIONSZ = (MESSAGETABLFLOl«(83101)2»
TFRMSGSZ = (MESSAGETABLFI1)408:101)#,
KpYMSGSZ = (MESSAGETABLE(2),08:100)#,
CeTARLSZ = (MFSSAGETABLF(3),[83101))#3

£ SFT OM1T = PACKFTS
$ SET OM1T = NOT(PACKFTS)
DEFINE
SPOUT¢SPOUT1)Y=SPOUTER(SPOUT1»0,1) %
SPOUT 1T ¢SPOUT 1 T14SPOUT|T2)=SPOUTER(SPOUTIT1,0.SPOUTIT2)#3
PROCEDURE SPOUTER(MESSAGE,UNITNO,TYPE)S

00433000
00435000

00436000
00437000
00438000
00439000
00440000
00441000
00449999
00451499
00451500
00451600
00451700
00451800

START OF REL SEGMENTS DISK

PRT(374) = SPOUTER
VALUF MESSAGE,UNITNO»TYPES

00451900

T 000010

T 0000:0
T 0000:0
T 0000:0
T 000010
T 000040
T 000010
T 000010
ADDRESS =

T 0000:0
T 000010
ADDRESS =

T 000010
ADDRESS =

000010
000010
0000:0
0000:0
000010

0000t0
0000¢0
0000:0
0000t0
0000:0
0000t0
0000t 0

- -~ - -~

T 000010
ADDRESS =

T 000010
ADDRESS =

0000:0
0000:0

R —

0000:0
000010
0000:0
0000:0
0000:0
000050
0000:0
000010
0000:0
0000:0
0000:0
000010
ADDRESS =

g = -

T 0000:0

00002

00002

00002

00002

00070

00002




PRT(375)

PRT(376)

PRY(377)

PRT¢400)

PRT(C401)

PRT(402)

PRT(403)y

PRY(404)

PRT¢405)

PRT(406)

PRT(407)

PRY¢a40)

PRT(411)

PRT(412),

REAL MESSAGE»UNTTNOSTYPES
FORWARD?
NDEFINE
FI11,EMESS=FMSE,
FMSCFMS1oFMS2,FMS3»FMS4sFMSS2FMS6sFMS7 )=
FI) EMESSAGECFMSY sFMS2sFMS3sFMSasFMSS5sFMSEFMST1)#3
PRONCEDURE FII,EMESSAGE (I sKeMsFoRsDsCsTYPE)S

FILEMESSAGE
VALUE 1sKsMeFsRoDsCP»TYPES
REAL T2KseMsFaRsDeCoTYPE;
FORWARDS
$ POP oM1TY
PROCEDURF LRMESS(FNsSNoJ1212ersUNITNOX)}

LBMFSS
VALUE FNsSNol1,12+EsUNITNO, X3
REAL FNeSNsaTgpI12,EsUNITNO, XS
FORWARD?S
PROCEDURE TERMINATEC(MIX)3 VALUE MIX3 REAL MIX3 FORWARDS

00452000
00452100

00452200
00452300
00452400
100452500
00452600

START OF REL SEGMENT3 DISK

START OF REL

START OF REL

START OF SAVE

START oF REL

START

START

START
START

START

TERMINATE
SAVE PROCFDURE TERMINALMESSAGE(N)S VALUE N3 REAL N3 FORWARD3
TERMINALMESSAGF
BOOLEAN PROCFEDURE SYSTEMFI|ECA»B)SVALUE A,B3 RFAL AsB3 FORWARD}
SYSTEMFILE
PROCEDURE ENTERSYSFILECN)YS VA|LUF N3 REAL N3 FORWARD:
FNTERSYSFILE
PROCEDURF COMS; FORWARD %
rOMS
$ SFT OMIT = NOT(STATISTICS)
PROCED!RF ASR3? FORWARD: %
ASR
PROCEDURE COM113 FORWARD;:3Z
COMY Y
PROCEDURE CnM133 FORWARD:%
cOMLI3

PROCFDURE ¢OMMUNICATEO; FORWARD;

FOMMUNICATEO
PROCEDURFE COMMUNTCATE13 FORWARDS

COMMUNICATE
PROCEDURE [IBRARYZERO? FORWARD}

ILIBRARYZERO
PROCEDURE LIBRARYCoPYS FORWARD3

LIBRARYCOPY
PROCEDURE FORMTIME(WsT)2 VALUF W»T3 REAL WeT3 FORWARD:

START

START

START

oF

OF

oF

oF

OF

oF

oF

REL

REL

REL

REL

REL

REL

REL

REL

START OF REL

$154=

00452700
00452800
00452900
00452901
00454000

SEGMENT3 D1SK

00454100
00454200
00454300
00463100
SEGMENT) DISK

00463200
SEGMFNT3 BASE

00463300
SEGMENTS DI1SK

00464000
SEGMENT3 DISK

00469000
SEGMENT; DISK

00469099
00474000
SEGMENTS DISK

00475000
SEGMENT3 D1SK

00477000
SEGMENT) DISK

00478000
SEGMENT) DISK

00478500
SEGMENT}? DISK

00479500
SEGMENT} D1SK

00480000
SEGMENTS DISK

00480010

T 000030
T 0000:0
T 0000:0
T 0000:0
T 0000:0
T 0000:0
T 0000:0
ADDRESS =
T 0000:0
T 000010
T 000010
T 0000:0
T 000010
ADDRESS =
T 0000%0
T 00000
T 000010
T 000040
ADDRESS =
T 000010
ADDRESS =
T 0000:0
ADDRESS =
T 000040
ADDRESS =
T 000030
ADDRESS =
T 0000:0
T 0000:0
ADDRESS =
T 000030
ADDRESS =
T 000010
ADDRESS =
T 000030
ADDRESS =
T 000030
ADDRESS =
T 0000:0
ADDRESS =
T 0000t0
ADDRESS =
¢C 0000:0

00002

00002

00002

00070

00002

00002

00002

00002

00002

00002

00002

00002

00002

00002




PRT(413)

PRYc4a14)

PRT(415)

PRY(416)

PRT¢447)

PRT(420)

PRT(421)

FORMT [ Mp
$ SET OMIT = NOT(pDUMP OR pEBUGGING)
PROCEDURF nUMPCORE¢R)S VALUF R} REAL B! FORWARD:

DUMPCORE
$ POP oMLY
PROCEDURE CoM19; FORWARD} %
cCOM19
PROCEDURE COM23: FORWARD;: %

roOM23
PROCENDURF INTRINSICTABLFRUILDFRC(FH)

INTRINS1CTABLFRUTLDER
VAILUF FH? REA| FH} FORWARD3
PROCEDURE MESSAGETARLEBUILDER; FORWARDS

MESSAGETABLERUILDER
$ SET oMIT = AUXMEM
DEFINFE INVLDAUXIO = 11#,
LOOVFLOW = 1343
$ SFT oMIT = NOT ¢AUXMEM AND SHAREDISK)
ARRAY PUNTFRI[ =1}
PUNTER
DEFINE PUNTSIZF = 11
$ SET OMIT = NOT SHARED!SK

+ 2 2 INVLD AUXMEM 10
$ SET oMI1T = NOT AUTODUMP

+« 19 £ DUMP CARD
2 POP OMIT OMIT OMJIT

L}

$ SET OMIT = NOT AUTODUMP
$ SET OM1T = NOT (SHAREDISK r@y AUXMEM) OR OMYT
DEFINF puUMPCRD = 13%,
NUMPANDR & 26#}

$ POP oM1T
& SET nMIT = (SHAREDISK OR NoT AUXMEM) OR OMIT
$ SET aM{T = NoT SHAREDISK OR AUXMEM OR OMIT

START

START

START

START

START

START

oF

oF

OF

OF

oF

REL

REL

REL

REL

REL

REL

COMMENT THIS 1S THE CODE ON THE DUMP CARD (ALL NUMBERS ARE OCTAL):

1202 205,20 NOP»NOP
191¢ STDsSsBFW
122% INI«OsLFU
1231 10,L0D221,8TD
1248 25+110,2,1L,RU
t258 0140000007700035
126 0140000047400157
127t OPDC 14,D1A 26410,BFW
1303 OPDC 15,D1A 2606,BFW
1313 oPDC 16sD1A 2602,BFNW
1321 OPDC 17+DIA 260

DESC 24.CBD 7
1338 DESC 37+BFW
t343 INIeO?LFU
1353 0000000000000501
1361 INT«O»LFU

BRANCH T0 23

170 4

TIMER = LOOP UNTIL INTERRUPTED
SAVE M[8). RESTORED BY 2ND CARD
START 1/0 THEN WAIT AT TIMER
170 DESC FOR 77 SEG WRITF FROM 35
1/0 DESC FOR 74 SEG READ OF CODE
1/0 1 = PicK UP RES DESC,
1/0 2 = DIAL TO ERR FIELD,
170 3 = BRANCH INTO 1/0 4

BRANCH T0 24 FOR RETRY IF ERRORS
GO To 37 1ST TIMEs SEF 41 FOR 2ND
DATACOM ™ LOOP UNTIL INTERRUPTED
DISK ADDRESS FOR WRITE

FREEADDRESS ™ LOOP ON INTFRRyUPT

TELLS ANALYZER ALL 1/0 RES ARE OK

SEGMFNT3 DISK

00480099
00480100

SEGMENT3 DISK

004801014
00483000

SEGMENT3 DISK

00487000

SEGMENTS DISK

00489000

SEGMENTS nISK

00490000
00491000

SEGMENTS DISK

00642000
00642100
00642200
00642300
00643000

00643100
00643200
00643320
00643400
00643500
00643600
00643700
00644000
00644100
00644200
00644300
00644350
00644400
00644750
00645000
00645010
00645020
00645030
00645040
00645050
00645060
00645070
00645080
00645090
00645100
00645110
00645120
00645130
00645140
00645150
00645160

ADDRESS =

T
T

0000:0
0000:0

ADDRESS =

T
T

0000:0
0000:0

ADDRESS =

T

0000:0

ADDRESS =

Y

0000:0

ADDRESS =

T
T

0000:0
000030

ADDRESS =

- -

e T B B R B I e R I R I TR R I B I B R e I e R R R R

0000:0
0000:0
000010
0000:0
0000:0

0000:0
0000:0
0000:0
000030
0000:0
0000:0
000010
0000:0
0000:0
0000:0
000010
0000:0
0000:0
0000:0
0000:0
00000
000010
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
0000:0
000030
0000:0
000030
000010
0000:0

00002

00002

00002

00002

00002

00002




137: 200,157,3Nps 240

401 STDL,OPDC 26925,STD
14198 NDFSC 240,37+STDaNOP
1421 16.|,BU

$ POP oMIT

SAVE PROCEDURE RESULT:

PRT(422) = RESULT

BEGIN :
GO 10 P(I1R]);
END3

STORF p1SK ADR FOR READ, SET 240 00645170
TO OPERAND FOR DESC AT 41 00645180
PUT 170 DESC INTO 25 00645190
SET 37 FOR BRANCH TO 240 FROM 33 00645200
BRANCH TO 24 To START THE READ: 00645210
00645900

00646000

START OF SAVE SEGMENT; BASE

00647000

5 TIMER IS A LOOP ON INTERRUPTS 00648000
00649000

T
T
T
T
T
T
T
A

T
T
T

Sl

0000:0
0000:0
000030
0000:0
0000:0
0000:0
0000:0
DDRESS =

0000:0
0000:0
0000:2

00070

00647000

Ze= 0001

WORDS



PRT(423) = PUNT
STACK¢F=3) =2 T

STACK¢F+1) 5 TMB
PRT¢422) s RSLT

SAVE PROCEDURE PUNT(T1)3

HA S

HB ¢

$ SET oMIT =

$ POP oMIT

VALUE 13 REAL I3 00650000

START OF SAVE SEGMENTS BASE

RFGIN REAL T==3; 00650250
RrEAlL TMRBR, RSLT=RFSULTS 00650500
LABEL, HA»HB3} 00650750
It=1F 1=0 THEN T ELSE PUNTER INX I} 00651000
STREAMCQI=P(OsRDF)Y: I, 00651800
A1318» Di=13xPUNTER INX 0)3 00652000
BEGIN DSi= 16 LIT"=SYSTEM HANG» F="} $104= 00652400
STi=LOC Q3 SIs*51+3; 00652600
5(NS:=3 RESET; : 00652800

3CIF SB THEN DS:=SET ELSE DSs=RESFT3 SKIP SR)) 00653000

nS:=2 L1T"s "3 Spt=]; 00653200

" 63(IF Sc#"e”™ THEN DSI3CHR)S DSt=LIT"e"; 00653400
NI8=AS DS1aB LIT"292904J1"; £ INI,IN]»4,BBW 00653600
S18=A} NSIz44 WDSS 00653800
DIs=A3 D13=Dr+8? ¥ J0BUSY= 00654000
DS1=a |,1T"002("} 4 0sRTN 00654200
DIt=D1+083 % I0COMPLETE=LOD RsRTN 00654400
DS8=32 LIT"0 +A+:2(0U+A+32(0Y+A+32(0#+A+:2("} 00654600

END3 00654800
PCHP2)3 00655000
TMR:=1R86013342161)3 00655200
P(rTMR1L110)3 00655400
NO 1F CTMBYaP(MKS,RSLT)) = 0 THEN £ 10 BUSY 00655600
BEGIN P¢MKS,RSLT,DE|L)S GO HA END 00655800
UNTII, TMB.[3:61=2603 00656000
IF TMBCLCFJl<] THEN Go To HB3; 00656200
IF TMB.(FF1#p THEN GO To HA} 00656400
NOT AUTODUMP 00656500
IF NOT HALTSET AND PUNTERIDUMPADRI=®501 THEN 00656600
REGIN 00656800
STREAM(s:=fPYUNTERLDUMPCRD)1y» D:=020): 00657000
REGIN Sts=S3 DS$=19 WDS: ENn? 00657200

g0 TO P(ODSTSQOQSTFQ[M[pQOJ])l 004657400

ENDS 00657600
00657700

D0 UNTIL FALSES 00657800
00662000

END3

T

000010

ADDRESS = 00071

T

-y

N - St - 4T 44— —

e e B e e e I I I I e P

-t

0000:0
0000:0

0000:0
0000:0
0003:3
00051
000711
000912
001030
00102
001233
0013:2
001511
001613
001711
0017:3
001812
0018:3
002310
00652400
002331
002312
002511
0025143
002714
00655800
0029:0
0030t3
003212
003411
003431
003612
003730
003811
00657200
0039140
004412
00656800
004112
004122
004211
00650250

S1Zg= 0043 WORDS



$ SET OM1T = DATACOM
E Rrng SEQTlchNK 88233838
t POP oMIT 00699990
$ SET aMIT = NoT DATACOM 004699999
$ SET aMIT = NoTCDFX) ‘ 00999999
SAVE PRACEDURE STARTIOQCUY3 VALUE Uy REAL Us FORWARD: 01165000

START OF SAVE -SEGMENT}3 BASE
PRT(424yy = STARTIO
SAVE PROCFDURE COMPLEXSNOOZEC(PRISCODEYS VALUE PRI3 REAL PRISCODFE} 01240000
‘ | START OF SAVE SEGMENT3 BASE
PRT(425y = cOMPLEXSNOOZF
BEGIN SNOOZFECPRI»31,PCoCODF»LLOD))S END3 01240100

000030
000010

T

T

T 0000%0

T 0000%0

T 000030

T 000030
ADDRESS = 00114

T 00000
ADDRESS = 00114

T 000010
01240100
S1Ze= 0002 WORDS




NEFINE COMPLEXSLEEP(COMPLEXSLEFEP1)SCOMPLEXSNOOZECPRYOR[PIMIX]»
COMPLEXSLEFP1)#;
PROCEDURF USASITAPEC(AREA*TYPESFROMsyenlIR)}

PRTY(426) = _SASITAPF

. BEGT
STACKeF4+1) = PTN

STACK(F+2) = Y

STACK(F+3) = ULAB

VALUE AREASFROMsU,DIRS

N RpAL PTN,vY3

ARRAY ULABC[*)}

ZRHR

01240200
01240300
01250100

START OF RegL SEGMPNT: DISK

REAL AREASTYPFSFROM,UsDIR}

LABFL EXIT»ERRORsVOL»BAD*WAIT,TIPsETIP?

SUBROUTINE LABELSPACES

REGIN ULARt=[(M[SPACE(11)]]810[81381101}
MOVE(10sULAB.[CFI=1»ULAB(CF 1)}

END LABELSPACES

SURROUTINE VOLIF?

LLé

BEGIN STREAM(AREA,ULAB)3
BEGIN DS3=8 [,IT » LABEL
STeST41131F SC=" " THEN DSe7L1T"0" ELSE DSe7CHR}

END:

DI«D1+37
SIt1=AREA;

END VOLIFILLS

SUBROUTINF HDRICHKS
RFGIN STREAM(Y:=0:ARFALX$=0)}
BFGIN DIS=LOC X3 DSt=4 LIT "HDR1I"S

END3

Yi=P}
FND HDRICHKS

SUBROUT INF WDRIF1

S1:=AREAS

EMID
Slt=S1+53

DI¢=L0C X3

0St®5 CHR3

IF 4 SC=pC THEN TALLY1=13

t=TALLYS

LLj

REGIN STREAMCAREA,ULAB)}

BEGIN SJ'sAREAS SIt=S1+43
DIs=sDi+173 DStaz7 CHR3 %FID
S118S1+973 DSt=s3 CHR} ZXREFL

FND!

END WORYFTLL

SUBROUTINE HARDF!

SI1=S1+113 DSts5 CHR3 XC*DATE

S1:=S1+-8;

SI3381+73 DSt=5 CHR}

Dl:*DI+1:

NS$*5 CHR}

H

LL3

DSt=2 CHR3 3CYCLE

SIt351+2;

EP=DATE

XBLOCK COUNT
DS:=7 CHR3 XZRECORD COUNT

REGIN PTNs=PRNTABLELU],[3011813%
STREAM(PTNs» AREA» ULAB)

REGIN

Sls+=LoC PTN:

D1t=DI+53;

"} DIsxDI+13 SIt=AREA}

EPHYSICAL TAPE NO

01250200
01250300

01250400

01250500
01250600
01250700

01250800
01250900

01251000
01251100
01251200
01251300
01251310
01251400
01251500

01251600

01251700
01251800
01251900
01252000
01252100
01252200
01252300

01252350
01252400

01252500
01252600
01252700
01252800
01252900
01253000
01253100
01253200
01253300
01253400
01253500
01253600

01253700

01253800
01253900
01254000
01254100

T 0000t0
T 000010
T 00000

ADDRESS = 00002

T 000010
T 000010

-

0000140

000010
00001:0
000110
000413
00083}
04250700
0008:2
000910
00101y
001210
001412
001443
001512
01251200
001583
01251100
0016140
001620
0017¢2
001832
0019¢0
001943
0020130
01251900
002011
002013
01251800
002110
002110
002284
002213
002311
0023:3
0024131
002413
002511
002513
002610
002611
01252700
002612
01252600
0026143
002710
002812
003010

-t~ -t —

e e I T B R R R e I R

e

o = —h - —

-

-t




0S:35 DFes DIt=ULABS BPHYSICAL TAPE NO,
nS:+=8 LIT " LABEL "3

FND3

ULARL I ssMULTITARLECUD;
FND HARDFILLS

LABFLSPACE
IF FROM=1 THEN
REGIN VOLIFILLS
PCWATITIOC®140000005+,83772U)sDEL)S
P(WAITIOCAREA INX ©8120540000000,8377,U)sDEL)?
HDR1CHK;
IF Y THEN HNRIFILL ELSFE GO TO ERROR;
PCWa1T]0¢(®340000005,@55,U)snFL )3
PCWATITI0¢(®340000005,855,U),DFL)?
GO TO wAlTS
FNDS

JF FROM =2 THEN
REGIN IF TYPE=1 THEN
BEGIN VOLIFILLS
VoLt P(WAITIOCAREA INX ©120540000000.8377-U)sDEL)S
HDOR1CHK:
IF Y THEN HDRIFILL ELSE GO TO ERROR:
P(WAITI0(@340000005283774U)sDELI)
GO TO WAITS
END3

1F TYPE=2 THEN
REGIN HDRIFILLS
HARDFILL 3
GO TO EXITS
END3

ENDS

IF FROM=3 OR FROM=4 THEN
RFGIN IF TYPF=1 THEN
BFGIN VOLIFILLS
60 10 voLs
FND3

IF TYPF=2 OR TYPEw84 THEN
REGIN HDRIFILLS
HARDFILLS
GO0 TO gXIT3
FND3

1Ff TyPr=3 OR TYPE=5 THEN
RFGIN IF DIR=0 THEN
REGIN P(WAIT10(®340000005,8377,U)»DFL)3
PewArT10(®340000005,8377,U)sDFL)3
PcWAYT1OCAREA INX ©120540000000,8377,U),DFL)}
END ELSE

PcwArTIOCAREA INX 8120740000000s8377,U)sDFL)S

01254200
01254300
01254600

01254650
01254700

01254800
01254900
01255000
01255100
01255200
01255300
01255400
01255450
01255500
01255600
01255700

01255800
01255900
01256000
01256100
01256200
01256300
01256400
01256500
01256600

01256700
01256800
01256900
01257000
01257100

01257200

01257300
01257400
01257500
01257600
01257700

01257800
01257900
01258000
01258100
01258200

01258300
01258400
01258500
01258600
01258700
01258800

01258900

— - —

-~

-t = —4

At 4§ =4 —f = ==

e e R I e

e e B e K .

-

003012
003110
00321
01254100
003212
003410
01253900
00341%
0037130
003713
003980
004012
004212
004440
004640
004712
004910
005310
01255000
005310
005313
005510
005730
005910
006010
006210
006312
006610
01256000
006610
006613
006810
006910
006932
01256800
00692
01255900
006912
007131
007212
0074130
007412
04257500
007482
007611
007830
007910
007912
01257900
007912
008111
008212
008412
008610
008810
01258500
008810




FNDS

WATT?
TiIP:

FRROR

FTIP?

FXITS

BAD®

END USASITAPES

HDR1CHK
IF Y THEN WDRIFILL ELSE GO TO FRROR:
HARDFILLS
GO TO WATTS
FNDS

1F TyPE=6 THEN
BEGIN HDRiFILLS
HARDFILLS
STREAMcULABR)}
BEGIN DIS=ULAB? DIs=D1+39;
pSt=q LIT mye;
ENDS

GO TO FXITs
END

PTN$=03
IFCCTWOCU) AND PCRRR)) #0) THEN
GO TO FXIT ELSE SLEEP¢LCLOCK], NOT CLOCK)S
PTNS=PTN+13
TFCPTN>120)THEN GO TO EXIT ELSE 60 TO TIPS
PCWATTIOC@4200000000,8377sU)DFL)S
STREAM(CT:=TINUCUI,ULAB)S
BFGIN S1:=L0c T3 SIt=S1+53
DS¢=LIT "#*; NSt=3 CHR?
NS1=22 LIT " INVALID USASI» RW/Le";
ENDS

SPOUT(ULAB.[CFJ)} LABFLTABLELU)t=®314;
TYPE«QO3 PTNe0O;

IFCCTWOCUY AND PCRRR)) #0) THEN

GO TO BAD ELSE SLFEP(rCLOCK)s NOT CLOCK);
PTNePTN413

IFCPTN>120) THEN 60 TO BAD ELSE 6O TO ET1P3
MOVE(10,ULAB,ICF),AREA,ICF1)}
FORGFTSPACECULAB.[CF1)}

%¥RHR

01259000
01259100
01259200
01259300
01259400

01259500
01259600
01259700
01259800
01259900
01260000
01260100

01260200
01260300

01260400

01260425
01260450
01260455
01260460
01260465
01260500
01260600
01260700
01260800
01260900
01261000

01261100
01261150
01261160
01264170
01261180
01261200
01261300
01261400
01261450
01261500

009310
0094130
009610
0097:0
009910
01258400
009910
009913
010110
010230
010330
010332
010430
01259900
010411
0104133
01259600
010443
01257400
0104133
010512
0107141
010912
011043
0112:2
0114130
011582
0116140
011613
011933
01260700
012010
012311
012530
012613
012910
013041
013210
013413
013611
013611
01250300
S1Zg= 0138 WORDS
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SAVE PROCFDURE SNOOZF(NFWPRI»ADDRESS»MASK)}

02000000

START OF SAVE SEGMENT3 BASE

VALUE NEWPRT, ADDRESS, MASKS
RFALL NEWPR1S
NAME ADDRESS?
ARRAY MASK[*]}
REGIN
REAL TRYHERE=NTY:
PRT(160) = TRYHERE
$ SET oMIT = NOTO(NEWLOGGING)
LAREL BEDENTER}
IF (JOBNUME=JOBNUM+2) GEQ JOBNUMAX THEN PUNT(9)3
PRYORIPIMIX) [FFJle NFWPRI® NEWPRI*13}
FOR TRYHERE«JOBNUM STFP =2 UNTIL 2 DO
REGIN
1F PRYOR[(RED[TRYHERFI¢BEDI TRYHERE=21),I3t511,[FF]
€ NFWPRY THEN GO TO BEDFENTERS
REDCLTRYHERE+1) « BEDITRYHERE=1])3
ENDS

BREDENTFER:
REDITRYHFRE) « P(ADDORESS & PIMIX[3:4315), RDF)S
REDLTRYHFRE+1] « MASK;
STOPLOG(PIMIX»1)3
GO TO NOTHINGTODO}
PRT(427y = NOTHINGTONO
FND SLFFP}

02001000
02002000
02002500
02003000
02004000
02004500

02004599
02004900
02005000
02006000
02007100
02007200
02007300
02007400
02007500
02007600

02008000
02008100
02008200
02008300
02008400

02009000

T

000010

ADDRESS = 00116

R e

= ot~ — = = — =4

T

000010
000010
000010
000080
0000t0
0000t0

000010
000010
000010
000330
000610
000710
000710
0009¢2
001141
0013¢3
02007200
001610
001610
001843
002043
002311

002313
02004000

S1Zew 0024 WORDS




SAVE PROCEDURE INDEPENDENTRUNNERCROUTINE+PARAMETERS»SSZ) ' 02012000 T 00000
START OF SAVE SEGMENT3 BASE ADDRESS = 00140

PRT(430) = INDEPFNNENTRUNNFR

VALUE ROUTINF»PARAMETER»SSZ3 02013000 T 000010
ARRAY PARAMETER(*]3 02014000 T 000030
RraL ROUTINESSSZ3 02015000 T 000010
RFGIN LSLATFE¢= LSLATF+2 ANp SLATENDS % 02016000 T 000030
1F NSLATE=LSLATE THEN PUNT(7)3 02047000 T 0002114
SLATFrLSLATE] « PARAMFTERS® 02018000 T 00041314
SLATFILSLATE+1)s=ROUTINE&SSZICTF I3 02019000 T 000513
ENDI X 02020000 T 000810
02016000

S1ZE= 0009 WORDS




PRT(431)

PRT(432)

PRT(433)

PRT¢101)
PRT(102)

PRT(434)

PRT(435)

REAL KFYBOARDCOUNTERS
KEYBOARNCOUNTER
RFEAL PPOCFDURF KEYIN(B):

KEYIN

$ SET oMIT

WHYSLFEP

LABEL P{PROCESS,»P2PROCESS:%
REAL ONEOHONE = @101,0NEONTHWO = @1023%

ONEOHONE
ONEOHTHWO

SAVE PROCEDURE RUN(MI

RUN

$ POP oMIT

FXTFRNAL

B3 BROOLEAN B3 FORWARD;} %

NOT(DCSPO AND DATACOM 2
BOOLEAM PROCENURE WHYSLEEP(MASK)3 VALUE MASK3 REAL MASK3 FORWARD3IX
START OF REL SEGMENT} DISK

X)3 VALUE MIX3 REAL MiXi%

BEGIN PIMIX « MIX3%
$ SET oMIT = NEWLOGGING
STARTLOG(MIX)

STACKUSE ¢ TRUEs%
GO TO FXTERNAL:%

02020500
02021000

START OF REL SEGMENT3S DISK

02021099
02022000

02023000
02024000

02025000

START OF SAVE SEGMENT3 BASE

02026000
02026999
02027000
02027001
02028000
02029000

02030000

T 000010
T 0000310
ADDRESS = 00007
T 000040
T 000030
ADDRESS = 00007
T 000030
T 0000%0
T 000040
ADDRESS = 00149
T 000010
T 0000:%)
T 000013
T 00031t
T 00031t
T 000510
T 000512
02026000
S1ZFr= 0006 WORDS




REAL NUMESS3 %
PRT(436) = NUMFSS
SAVF PROCFDUR

PRT(437) = SAVEM|X

F SAVEMIX(MIX);

VALUE MIX3

REAL MIX3%

BFGIN INDFPENDENTRUNNER(P(,RUN) s MIX,0)3

$ SET oM1T =

$ POP oM17
END3Z

NEWLOGGING
STOPLOGI(MIX»0)}

02031000

02032000
START OF SAVE SFGMENTS® BASFE

02033000
02033999
02034000
02034001
02035000

T 000010

T 000010
ADDRESS = 00155

000040
000141
000311
0003:3
000313
02033000
SIZE= 0004 WORDS
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SAVE PROCFDURE HALYS% 02036000 T 0000:0
START OF SAVE SFEGMENT3 BASE ADDRESS = 00159
PRT¢440) = yALT

RFGIN NOPROCESSTOG « NOPROCESSTOG+15% 02037000 T 0000:0
IF P2MIX > 0 THENS% 02038000 T 0001144
BEGIN P(HP2)3% 02039000 T 000230
$ SFT OMIT = NOT(NEWLOGGING) 02039099 T 000233
SNOOZF(=1+1,1)3 02040000 T 000233
IF P2MIX > 0 THEN% 02041000 T 0004131
BEGIN SAVEMIX(P2M1X)3% ' 02042000 T 000530
Po>MIXe03 TOGLE«TOGLE AND NOT HP2MASKS 02043000 T 0006%%
END#Z 02044000 T 00082
02042000
END3 2 02045000 T 000812
02039000
FaD3 3 02046000 T 000832
02037000

SI1Zg= 0009 WORDS




PRTC481) = wIL|,

SAVE PROCFDUR

REGIN

FND3s ¥

E KILLEA): VALUF Ad

P(By»STSH: R
FORGETSPACE(CA);: %
GO TO NOTHINGTODO: %

ARRAY Ar*313%

o;oarooo
START oF SAVE SEGMENT}S BASE

02048000
02049000
02050000
02051000

T 000030
ADDRESS = 00168

000010
000033
0001:3
000211
02048000
SIZE= 0003 WORDS
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PRT(442) =

PRT(443) =

PRT(4a4) =

PRT(445) =

STACKCF+1)
STACKCF+2)
STACK(F+3)
STACKCF+4)
STACK(F+5)
STACK¢F4+6)
STACK(F47)

STACK(F+5)

REAL PBCOUNTS
PRCOUNT

BOOLEAN PROCEDURE OLAYCLOC)3 VALUE LOC3 REAL LOC3 FORWARDS

OLAY
PROCEDURE SFEKNAM(A,R,CsDaFsN,XLST)3 VALUE A,B}

SEEKNAM .
REA) AsBsCoDsEsnNs ARRAY X; ST[*]3 FORWARDS
PROCFDURE UNHOOQUE(MIX)3 %

UNHOO0QUE
VALUE MIX3 %
INTEGER MIX3%
REGINE
RFAL UsSrSNeTeXs [sPROCES R
= U
= §
= SN
= T
= X
= 1
s PROCE
NAME OLDQ=X?
= 0OLDQ

LABFL DOLP,DELINKIT:
FOR 1)e0 STEP 4 UNTIL 31 pU%

BEGINZ
IFCS*UNITLU)LLFF1)#@77777 THEN
REGINg
WHILE (SNeLOCATQUELSI LFF1)#877777 poO%X
BEGIN 1F (TeNFLAGCLOCATQUELSNY)), 1315 =%
MIX THEN%
IF LOCATQUETSN],[1131] THEN SeSN ELSE
BEGIN®
LOCATQUELSI«LOCATQUELSIRTLFTFI ¥
RETURNIOSPACECSN)}
END FLSEX
S«SN3 &
FNP¥
ENP
END}

$ SET OMIT = NOT pFX3

pOLPS

FOR ye«0 STEP 1 yNTIL 31 DO%

REGINE
CIF (SeCTeUNTTIUI),CFFII#877777 THEN
BEGINg
tF LOCATQUE[S),3151=M X THENSR
BEGINg

IF ¢XeT,01315))=20 OR X=16 THEN
GO DELINKITS
IF Xs4 THEN%

02052200
02052500

START OF REL SFGMENT3 D1SK

02052700

START OF REL SEGMENTS DISK

02052800
02053000

START oF REL SEGMENT) DISK

02054000
02055000
02056000
02057000

02057500

02058000
02059000
02060000
02061000
02062000
02063000
02064000
02065000
02065100
02066000
02067000
02068000

02070000

02071000
02072000

02072100
02072200

02072490
02075000
02076000
02077000
02078000
02079000
02080000
02081000
02082000
02087000

T 000030

T 0000:0
ADNDRESS =

T 0000:0
ADDRESS =

T 0000:0

T 000010
ADDRESS =

0000:0
00000
0000t0
0000:0

— - -

000010

—

0000:0
0000:0

00007

00007

00007

0003:0
0003:0
0005:0
000532
0008:0
0009:3
001031
0013:0
0015:0
001710
02068000
0020t1
02066000
00204}
0021:2
02064000
002132 :
02062000
002210
02060000
002411
002411
002530
002540
002713
002811
002933
003041
0033:0
003313

- A~~~

e e

-
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BEGIN®
IF LOCATQUELS],(FFl=@77777 THENS
BEGINE
[«FIRSTWAIT;%
WHILE WAITQUELT1J#UZ
DO I « I+1 AND 31;%
WATTQUEL1) %
WATTQUEINEXTWAITeNEXTWATTE
+31 AND 31)3%
UNIT[U)«TROT7777713:2812013
END ELSE

DELINKTT: UNITIUIt=TRLOCATQUETISIIFTF)3
£ SET oMIT = NOT DFX
RETURNIOSPACE(S) S
END ELSE

PROCE*((U#23 AND U#24) OR Xs3)
AND X¢25 OR PROCES
FNDE

END%
~END s X
IF PROCE THENR
RFEGIN%
SLEEP(CLCLOCKIsNOT CLOCK)S PROCE«O} GO TO DOLPS
END: R

END UNWOOQUESR

02088000
02089000
02090000
02091000
02092000
02093000
02094000
02095000
02096000
02097000
02097200

02097400
02097590
02100000
02100400
02101000
02101100
02102000
02103000
02104000
02105000
02106000
02107000
02108000

02109000

o ]~

- -t -

—f

- — -t —

- - T

003412
003510
003612
003710
0037:3
0038:1
004310
0043:2
004312
004610
0048: 1
02090000
00481%1
0052:0
0052:0
02100000
005521
02088000
00551
005810
006032
02080000
006012
02078000
0060t2
02076000
006233
006310
0063:2
0066t2
02106000
006612
02056000

S1Zg= 0067 WORDS



PRT(4n6Y =

PRYC44T) =

PRT(450) =

PRTc451) =

PRTc452) =

PRT¢453) =

PRTc454) =

PRT¢455) =
PRT(45%6) =
PRT(457) =

PRTC460) =
PRTC461) =

PRT(462) =

STACK(F+0)
STACK(F=2)

STACKeF+1)

DEFINE PSF=314%,

TERMSET¢TFRMSET1)=(PRTROWITERMSFT1],[6:1181)#,
NOTFRMSFT(NOTFRMSET1)=(PRTROWINOTERMSET11,0621) NEQ 1)#,
TERMGOINGCTFRMAOINALI)=(PRTROWI TFRMGOINGL),.IPSF1=3)#,
BREAKSET(BRFAKSFT1)=(PRTROW[BREAKSET1]),[PSFI=4)2,
STOPSET ¢STOPSET1)=¢PRTROW[STOPSET11,IPSFl=2)#;

REAI, PROCEDURE GETESPDISKIFORWARD? %

GETFSPNISK

PROCEDURE CHANGEMCP(KTR)S VALUE KTR3

CHANGEMCP

PROCEDURE CHANGEINTRINSICFILE(KTR)S VALUE KTR3$

AHANGFINTRINSICFILF

$ SFT OMIT = NOT(DFBUGGING)
REAL PROCEDURE ANALYSIS: FORWARD?

ANALYSTS

PROCFDURE SHORTCOMMUNICATES FORWARD}

SHORTCOMMUNICATE

PROCEDURE CONTINUITYBIT: FORWARD:

CONTINUTTYBIT

REAL CCTBLWORDS

CCTBLWORD

DEFINE cCCOUNT

= CCTRLWORD.FFFJ#,

CCTRLADNR = CCTBLWORD.rCrl#;
REAL READFRA,READERRBS

READERA
READERB

$ SET oM1T

NOT(PACKETS)

ARRAY PSEUDOI*1: ZpSFUDOMAX]

PSEUDO

ARRAY PSFUDOMIX[*],

PSEUDOMIX
NYLONZIPFFR

NEFINE PACKETPAGE[PACKETPAGEL11=PSEUNOCPACKETPAGE1],[22126])#;
NEFINE PACKETRECIPACKETREC11=PSFUDOrPACKETREC1],01883143
DEFINE PACKETPBDIPACKETPBD1=PSFUDOTPACKETPBO1).[8810])#3
DEFINE PACKETACTIPACKETACTyIsPSFUDOTPACKETACT11,02161#3
DEFINE pACKETERRIPACKETERRY )=pSEUDQOIPACKETERR1 140181 1%}

DEFINE pPAGESIZE=300¢%#; ¥ SAME AS PBDROWSZ AT 08699100

REAL KTR3 FORWARD}

REAL KTR}

NYLONZ IPPFrR[*13 ZMIXMAX

¥139=

START OF REL

START

FORWARD S

START

START

STARTY

START

DEFTNE PAGFFULL®=(PAGESIZE DIV 3)x5=40#3 % ALLOW FOR 8 INFO RECORDS

$ POP OMIT

PROCEDURE MESSAGEWRITER: %

MESSAGEWRITER

2 RCwW
= MSCW

e T

$ SFT oM!1T

RFGIN REAL RCWs+0, MSCw==2;

REAL T=413%

LABE| L3%
P¢O)s
NOTC(DCSPO AND DATACOM )

oF

OF

OF

OF

OF

REL

REL

REL

REL

REL

2732"

02110050
02110100

02110200
02110250
02110260
02110300
02111000
SEGMENTS DISK

02111100
SEGMENT DISK

02111200
SEGMFNT3 DISK

02111299
02111400
SEGMFNT3 DI1SK

02111500
SEGMENTS DI1SK

02111600
SEGMENT3 DISK

02112000

02112100
02112200
02112500

02113079
02113080

02113085

02113086
02113087
02113088
02113089
02113090
02113091
02113092
02113099
02114000

START OF REL SEGMENT3 DISK

02115000

02116000

02117000
02118000
02119009

T 0000:0
T 000030
T 0000%0
T 000030
¢ 00000
T 0000t0
T 0000%0
ADDRESS =
T 0000:0
ADDRESS =
T 0000:0
ADDRESS =
T 0000:0
T 000030
ADDRESS =
T 000030
ADDRESS =
T 0000:0
ADDRESS =
T 0000:0
T 000010
T 0000310
T 000010
T 0000:0
T 000030
T 000010
T 000030
T 000030
T 000010
T 000030
T 0000:0
P 000010
T 0000:0
T 000010
T 000030
ADDRESS =
T 0000%0
T 000030
T 0000:0
T 0000:0
T 00004

00010

00010

00010

00010

00010

00010

00010




$ SET
L3
& POP

oM1T = NCSPO

oOMIT
PCWATTIO(MESSAGFHOLDER INX 1+0525))3
PCDEL)?!%
NUMESS « NUMESS=~1:%

T ¢« MIMFESSAGEHOLDFR),r1821573
FORGETSPACF(MESSAGEHOLDER [NX 1)3

IF T # 0 THENZ
BFGIN MESSAGEHOLDER,[33315] « T3%

GO TO L%

END? %

MESSAGEHOLDER « 03 %
KILLCIMSCWI)
FND; %

02119019
02119020
02119021
02120000
02121000
02122000
02123000
02124500
02125000
02126000
02127000
02128000

02129000
02130000
02131000

000021
0000ty
000011
0000t
000230
000211
0003:2
000542
0006:%3
000712
00091
0009%3
02126000
0009:3
001032
001131
02115000
S1Ze= 0012 WORDS

o o = g o —§ =4 — —) — = —



NOT(NCSPO ANpD DATACOM ) 02131005

$ SET OMIT = T 0000:0
$ SFT OMIT = PACKFTS 02131999 T 0000:0
$ SFT OMIT = NOT(PACKETS) 02132299 1 0000130
PROCFDURE SPOUTFR(MESSAGEsUNITNO»TYPE) 02132300 T 0000t0
START OF REL SEGMENT3 DISK ADDRESS = 00011
VALLUF MESSAGE,UNJTNO,TYPF3} 02132400 7 000030
REAL MESSAGELUNITNO»TYPF3$ 02132500 T 0000¢t0
$ POP oMIT 02132501 T 000030
BEGIN REAL MKSCW=MESSAGE=13 02133000 T 000030
STACK¢F=t) = MKSCW
INTEGER MIX3 02133010 T 000030
STACK(F+1) = MIX
$ SET oMIT = NOT(DATACOM AND DCSPO ) 02133011 T 000020
$ SET oMIT = (DATACOM AND DCSPO) ¥950= 02133122 ¢ 0000%0
INTEGFR LFT? %950= 02133123 ¢ 0000t0
STACK¢F+2) = LFT
$ POP oMIT 2950m= 02133124 ¢ 0000310
$ SET OMIT = NOT(PACKETS) 02133129 T 000020
DEFINE PACKETFRFE=PSEUDOLUNITNO), (213114, 02133130 T 000030
PACKETMASK=®4000000002%; 02133140 T 000030
REAL PSDsPSW,Y,Z7»BB3 02133150 T 000010
STACKeF+3) = PSD
STACK(F4+4) = PSW
STACK(F+5) = Y
STACK(F+6) = 7
STACK¢F+7) = BR
INTEGER NT1,R,S,T; ARRAY BUF[*1: 02133200 T 000030
STACKeF4+10) = NT9
STACK(¢F+11) = R
STACK(F4+12) = S
STACK¢F+13) =
STACK¢F+14) = BUF

$ SFT oMIT = NOT(DATACOM AND DCSPO) OR OMIT %203= 02133279
Ri=UNJTNO,LCF]3 UNITNO$=03 02133300

IF Rs0 THEN 1F PIMIX#0 THEN Ri=PSEUDOMIXIPIMIX]; 02133350

IF R>31 AND R<64 THEN UNITNO!=R3 02133380

$ POP oMIT . 02133381
$ SET oM1T = NOT(DATACOM AND D¢SPO) 02133499
MESSAGE ¢ P(,MESSAGE»LOD)s[33815]1~1:% 02134000

MIX « MIMESSAGE=11,(916)3 02134005

$ SET OMIT = NOT(pATACOM AND DcSPO ) 02134008
$ SET OMIT = NOTC(PACKETS) 02134889
IF TYPE THEN 02134890

POP OMIT 021348914
SFT OMIT = NOT(PDATACOM AND D¢cSPO ) 02134899
REGIN 02134906

IF MESSAGEHOLDER = 0 THEN® 02135000

BEGIN MFSSAGFHOLNDER ¢ MESSAGE} X 02136000
INDEPENDENTRUNNER (P ( (MESSAGEWRTITER)»0,64)3 02137000
: 02138000

000010
0000:0
000530
000832
001112
001112
001182
00132
001640
001630
001610
001684
001611
001631
001613
001712
001833
002010
02136000
002020
00234y
002543
002710
02134906
002730

o »
e i e b b R I P R ey

ENDE¥

FLLSE MIMESSAGEHOLDER,r18815)1,(18815) « MESSAGES 02139000
MIMESSAGE)eURMIX[434315]; 02140000
MESSAGEHOLDER,[18215] « MESSAGESY 02141000
ENDJ 02141020

- -t

MIMESSAGE=1],(9:6) « 03% 02142000

-
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o
® M{MESSAGE=1),[AREATYPFF] 3= SPOUTMSGAREAV3% 2167 02142100 ¢ 003031
IF P(MKSCW,[33815]1,DUP) = 0 THEN% 02143000 T 003332
BEGIN 3 02143050 T 003510
® STREAM(N¢O3X«MESSAGE+1); 02144500 T 003512
BEGIN ST ¢ X3% 02145000 T 003731
Lt IF SC # "e" THENS 02146000 T 003712
® REGIN IF SC= " * THENZ 02147000 T 003810
BB! BEGIN Sle SI+1} 02148000 T 0038:2
IF SC=" " THEN GO BB} 02149000 T 003813
@ IF SC = ALPHA THENY 02150000 T 0039:2
BEGIN SI ¢ SI=13% 02151000 T 004010
DS ¢ CHRIZ 02152000 T 004011
® "END ELSE GO TO L3% 02154000 T 004012
02151000
ENDI X 02155000 T 00410
@ 02148000
IF SC = ®14 THEN® 02156000 T 004130
BEGIN DS ¢ CHR}I® 02157000 T 004132
e @ IF SC = 814 THENX 02158000 T 004113
BEGIN ST « SI+13% 02159000 T 004231
60 TO Q3% 02161000 T 004212
® END3 % 02162000 T 004213
02159000
GO TO L}% 02163000 T 004213
® END & 02164000 T 004310
02157000
DS ¢ CHR}I¥ 02165000 T 004330
o GO TO L3% 02167000 T 004311
FND3 % 02168000 T 004312
02147000
@ DS « CHR3 % 02169000 T 00432
N e DI 02171000 T 004333
ENDS % 02172000 T 004410
@ 02145000
NT1ePsNT1eC(NT1,[33815)=CMESSAGE+1))IxB+NT1,[30831)x63 02173000 T 004431
END FLSE NT1 « P x 63 02173050 T 004910
o 02143050
$ SFT OMIT = NOT(PACKETS) 02173069 T 005012
IF UNITNO#0 THEN 1F PACKETPAGFILUNITNO=3231>1 THEN 02173075 1 005032
[ BFGIN UNJTNOI=UNTTNO=323 02173080 T 005333
IF NOT PACKETFRFE THEN SLEEPCCPSEUDOTUNITNOIIsPACKETMASK)} 02173085 T 005512
IF ¢PSD3=PACKETPAGELUNITNOI)>Y THEN 02173087 T 005843
o BEGIN % JUST TO BfF SURF 02973088 T 0064130
PACKETFREE!Y3FALSE S 02173090 T 006112
t=1F (PSWi=PACKFTRECCUNITNOI) THEN 60 ELSE 30; 02173095 T 006430
o St=(cYt=]F NT1>725 THEN 120 ELSE NT1 DIV 6)+7) DIv 83 02173100 T 006712
RUF1srM[Ts=SPACE(7+5))182183382101)3 02173110 T 007231
MIBUF=21,[9161:=0} 02173120 T 0077%0
® STREAM(Nt=S» AASaMESSAGE+1sBUF1=BUF INX Z)} 02173150 T 008032
BEGIN SIt=AA3 DSt=N WpS END3J 02173160 T 008310
02173160
@ NISKWAITC=T2ZsPSD+PSH DIV 2)3 02173210 T 00843<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>